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Examination Name |KVS PGT CHEMISTRY

Exam Date & Time 18-02-2023 09:00:00

Subject : GE_Q01-Q10_PGTCHEM
Question ID:- 1

Rearrange the parts in correct order to make a 111&1111'1135111 sentence.
(a)  entering a house,

saw a burglar

when the policeman

() he ran and caught him

(1) (@) (b) () ()
(2) (b} (o) ( ) (@)
(3) () () (a) ()
(4 (d) () fh ) (©)
Options:-

.1, Option ID :- 1,

. 2, Option ID :- 2,

. 3, Option ID :- 3,

. 4, Option ID :- 4,

Answer Given:- 3, OptionID : -3
Question ID:- 2

Change the following sentence from Active Voice to Passive Voice.
Why did your friend write such a nasty letter to vou ?
(1) Why such a nasty letter was written to you by your friend ?

2)  Why is a nasty letter written to vou by your friend ?

(2)

(3) Why anasty letter to you was written by vour friend ?

(4)  Why was such a nasty letter written to vou by vour friend ?
Options:-

.1, Option ID :- 5,

. 2, Option ID :- 6,

« 3, Option ID :- 7,

. 4, Option ID :- 8,

Answer Given:- 1, OptionID : -5

Question ID:- 3
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Fill in the blank with the correct preposifion.

The wheel came the vehicle when it was negotiating a dangerous curve.
(1)  out

(2) of

(3)  off

(4)  from

Options:-

.1, Option ID :- 9,
. 2, Option ID :- 10,
. 3, Option ID :- 11,

« 4, Option ID :- 12,
Answer Given:- 4, OptionID : -12

Question ID:- 4

Choose the correct tense torm from the given options.

I had finished my exercise when my friend came to see me.

Past Tndefinite
FPast Continuous
[Past Perfect

Past Perfect continuous

Options:-
.1, Option ID :- 13,

. 2, Option ID :- 14,
« 3, Option ID :- 15,

. 4, Option ID :- 16,
Answer Given:- 3, Option ID : -15

Question ID:- 5

Change the f(‘}]lm-x'ing sentence from Direct Speech into Indirect Speech.

“I always take a cup of green tea m the 1‘1101‘11111%,” my tather said to his friends.

He always took a cup of green tea in the morning my tather told his friends.

My father told his friends that he alwavs took a cup of green tea in the morning.
. - L) wr

My father told his friends that he had alwavs taken a cup of green tea in the morning,

My father told his friends that he has always been taking a cup of green tea.

Options:-
.1, Option ID :- 17,

« 2, Option ID :- 18,
. 3, Option ID :- 19,

. 4, Option ID :- 20,
Answer Given:- 2, OptionID : -18

Question ID:- 6
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[dentity the part which has an error in it.
She disco

LY
(1) (2) (3)

vered / to her horror / that she swallowed a tly / w

Options:-

.1, Option ID :- 21,

« 2, Option ID :- 22,

. 3, Option ID :- 23,

« 4, Option ID :- 24,

Answer Given:- 2, Option ID ; -22

Question ID:- 7

[dentity the word nearest in meaning to the given word.
DERISIVE

(1)  quarrelsome

(2)  disdaintul

(j') (1]_1[] SIVE

{-4] decent
Options:-

.1, Option ID :- 25,

« 2, Option ID :- 26,

« 3, Option ID :- 27,

. 4, Option ID :- 28,

Answer Given:- 3, Option ID : -27
Question ID:- 8

[dentify the word opposite In meaning to the given word.
MITIGATE
(1) float

(2)  increase
(3)  reduce
(4)  expand

Options:-

.1, Option ID :- 29,

« 2, Option ID :- 30,

- 3, Option ID :- 31,

- 4, Option ID :- 32,

Answer Given:- 3, Option ID : -31

Question ID:- 9

=t JET EELSLC N S S =T

hile drinkine tea,
(4)
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Identifv the Part of Speech of the underlined expression.

Students should not while away their time in frivolous activities.

(1) Adverb

(2)  Verb

(3) Conjunction

(4)  Pronoun
Options:-

.1, Option ID :- 33,

« 2, Option ID :- 34,

« 3, Option ID :- 35,

. 4, Option ID :- 36,

Answer Given:- 3, OptionID : -35
Question ID:- 10

Hurrah We have won.

What punctuation mark should be used after ‘Huwrrah' ?

(1y Colon
(2
(3
(4

‘ Mark of interrogation

)} Mark of exclamaton
) Semi-colon

Options:-

.1, Option ID :- 37,
. 2, Option ID :- 38,
« 3, Option ID :- 39,

« 4, Option ID :- 40,
Answer Given:- 3, OptionID : -39

Subject : GH_Q11-Q20_PGTCHEM

Question ID:- 11

FeAfefEs T 1 2T U2et SHI ATE 999 R HEl I Al

TR 93 1 AT 1 e vee ¥ 1 FErE S 99 F 1 37E F UE T w1 E
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BT FeAT o (o1 SAEvEE 29Il & Al & A el 2 | [Han Avd 51-5 & Sugea Tl e
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Options:-
.1, Option ID :- 41,
. 2, Option ID :- 42,
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. 3, Option ID :- 43,

. 4, Option ID :- 44,
Answer Given:- 4, Option ID : -44

Question ID:- 12

feferfaa e +1 ;'.Ej:‘alrr]:. Hrech! SHTL 3T fId 994 1 #el 37t & ST

TR 93 1 AT 1 e ve ¥ fSEan SR a9 F57E  UE T w0 A1 E w6 Wy g e
71 SAATAFEAIA] W T H | ST A A9 TN ] aer & (60, TEiEt s aeie o o E

e

TEwT FATT & o1 STavee: SO & [EardAl &1 @9 2! 2 | (9 A9 51-90 & 3ugad Jdi l aan
1 e TIR9A € | SIE A ST R 3T 300 R SR 9 9gA 5 T | gera o ¥

.
I

AT AfArEa H W S Amera £ 9 T8 i 27

Options:-

.1, Option ID :- 45,
« 2, Option ID :- 46,
- 3, Option ID :- 47,

. 4, Option ID :- 48,
Answer Given:- 2, OptionID : -46
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Question ID:- 13

FeAfefEs T w1 2IAeE T2el SHI AEE 999 1 Hel I Al

T 5 5 e e weew 81 T W a0 S W UE T S A1 S WY 2 e
71 SAETAFEAIHAT 1 W T HE T ST gAF AT TN ] G & {60, TEiEt s 6w o E “

TEwT FATT & (11 STaee: SUHIUl o Al &1 @9 2! 2 | [9ae Ar 51-90 & 3ugad 7 ] aan
1 e TIR9A € | S A ST R ST 300 R SR 9 9gA 5 T | gera oo §

FeAfAfEd & =1 95— SHE 7 Q

TS — ST

)

(2) HAETTR - HJAET H
) BUHH - HIHH
)

\lig JTE - ['!".

Options:-

.1, Option ID :- 49,

« 2, Option ID :- 50,

- 3, Option ID :- 51,

- 4, Option ID :- 52,

Answer Given:- 1, Option ID : -49

Question ID:- 14




FTeATEATEd TR T AATEF Tgeht SHTY AIE 994 R HEl 3 alf oy

AR 93 | 5 & fJvm 92 2 ) & LHHH*AIJ—TIH?FTJTPIT[WW%W? E | A
1 AATIFRAA] R 0 G0 A E | SIS A 9 SR R dens o (A0 JEier S wee w seE
TELefl Ferr  TeTn AEeEr SURTOT ok TRl e 32l 2 | faETE AR Se-An o Suge |l R ae
1 AreAn fTHTT € | AR A1 a9 SehS i U T Ted § (s | JemEa et )

TRl B e F AR AEEE SHRI & (A 1 JEdl § 2
(1) ¥ F Aagasa F fon

(2)  TEEE A & fan

(3) = =1 Fm F % fen

—_—
o

Options:-

.1, Option ID :- 53,
. 2, Option ID :- 54,
. 3, Option ID :- 55,

. 4, Option ID :- 56,
Answer Given:- 4, OptionID : -56

e.CcoOomMm

Question ID:- 15

feafeifid wariel o) Ay yget 3L s ged sl Hel s dlfs .

AR TR H HETE 1 e vEe ¥ ST Seen-Ts FsTE  UE TE E= A E W w6
=1 HAFTAEAI shl Wl U0 B 2 | ST Gdeh A9 TS dergl o foiy, 7ol s ez & sepe 1.
TRl FeAT o T STEeHeR SR ok fararadi w1 o 321§ ) T Ava s1-ay o v Hiefl R aan -
=1 WA AR § | S A SHAEE A S SeTE 1 STHE 9 T o (FTE W e e # Q

TR TR @ W T e 22 © 2

(1) Teekd w1 Haid] “
(2)  AETTH ITHEI HAH! bo
(3)  TIED =HTE HAHT Q
(4) A-HaHl

Options:-

.1, Option ID :- 57,
. 2, Option ID :- 58,
« 3, Option ID :- 59,
« 4, Option ID :- 60,
Answer Given:- 4, Option ID : -60

Question ID:- 16




—~ e
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)
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(4) = = Tea =09 e - 99 feawr

Options:-

.1, Option ID :- 61,

. 2, Option ID :- 62,

. 3, Option ID :- 63,

. 4, Option ID :- 64,

Answer Given:- 1, OptionID : -61

Question ID:- 17

- ~

ArfetEa ¥ faat 51y =7 o= 481 & -

(1Y =ZFF
() feda
(3 o
(4)  THER
Options:-

.1, Option ID :- 65,
. 2, Option ID :- 66,
« 3, Option ID :- 67,
. 4, Option ID :- 68,
Answer Given:- 4, Option ID : -68

Question ID:- 18

famfefea o 909y RIS 7'@5[% :

EEil
=S
g

Options:-

.1, Option ID :- 69,

« 2, Option ID :- 70,

- 3, Option ID :- 71,

. 4, Option ID :- 72,

Answer Given:- 4, OptionID : -72

Question ID:- 19
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&

Aa " ¥R 1 TEEEE v E

(Iy 3a%
(2) eArE
(3) 5
(4) =AfH7
Options:-

.1, Option ID :- 73,
- 2, Option ID :- 74,
. 3, Option ID :- 75,
. 4, Option ID :- 76,
Answer Given:- 2, OptionID : -74

Question ID:- 20

- e

TeAferfEa 5 Jeam w g 9 wHT 2

(1) Foaq °9=F - T2
(2) T g=E - #=1

)
)

(3)  qEvarEE - H
) HEEETEF - Sl

Options:-

.1, Option ID :- 77,
. 2, Option ID :- 78,
« 3, Option ID :- 79,

. 4, Option ID :- 80,
Answer Given:- 3, Option ID : -79

Subject : GA_Q21-Q30_PGTCHEM
Question ID:- 21

Which of the tollowing states in India does not have a bicameral legislature ?

(1)  Bihar

(2)  Maharashtra

(3)  Andhra Pradesh
(4)  Madhya Pradesh

frmferfaa § 9 aa & F1 9 1= O e faumsza =i 27

)

) HEl
(3) sl wau

) H TEY

Options:-
.1, Option ID :- 81,
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. 2, Option ID :- 82,
« 3, Option ID :- 83,
« 4, Option ID :- 84,
Answer Given:- 2, Option ID : -82
Question ID:- 22
Assertion (A) : The Government of India adopted the ‘waterfall” framework for policy making
during pandemic induced uncertainities since 2020,
Reason (R) : The "waterfall” framework is a flexible approach to policy making which use
feedback loops and real-time adjustment.
Choose the correct answer from the codes below
(1) (A) 1s correct but (R} is wrong
(2)  {A)1s wrong but (R) is correct
(3)  Both (A) and (R) are correct and (R) explains (A)
(4)  Both (A) and (R} are wrong

AfieRerT (A) ;A TEAE A HEME H 300 s & 2RE 3 2020 | Afd 3 & fa
‘TR HHEE | STIET |

& (R) : ‘HETRTE WHAE | Aifd ([E & fau uEm d=9el 9g5fd # WEE wigesd a9

Ty - 212 WHATS ] 9A0] TR Sa 21

e fau T 2 HOHE 3 # = A

(1) (A) 58l & (R) 1o 2

(2) (A) @ 2 ¥R (R) 781 &

(3)  (A) 2T (R) &1 W& 2 311 (R), (A) 1 =0z 2
(4)  (A) 3T (R) &4 7eAd €
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Options:-

.1, Option ID :- 85,

« 2, Option ID :- 86,

. 3, Option ID :- 87,

. 4, Option ID :- 88,

Answer Given:- 3, OptionID : -87

Question ID:- 23

Which of the followmng kingdoms was not annexed by the East India company under the ‘Doctrine
of Lapse” ?

(1)  Jhanst
(2)  Mysore
(3) Satara
(4) Nagpur




0

T2 Efea St g eed Al & aga fFE ewme 1 sfiies T e e e 7

(1 =i
(2) T
(3) HaM
(4) AT
Options:-

.1, Option ID :- 89,

« 2, Option ID :- 90,

. 3, Option ID :- 91,

. 4, Option ID :- 92,

Answer Given:- 2, OptionID : -90
Question ID:- 24

Which of the tollowing statements about mineral resources is incorrect ?
(1)  Copper is ductile and a good conductor of electricity

(2)  Aluminium is obtamed rom a clay-like substance called Bauxite
(3)  Tinis a Non-Ferrous mineral
(4)

Hematite 1s the finest iron ore containing iron upto 70 percent

sgfaa el & ol o ffafed § 9 &9 A3 shyq w8 T ¢
(1) = 9=y £ AR faza 1 James ©

(2) THIE, IR AHE i S 9eT H 9T 26 ©
(3y fATFE merm et g

(4) EEREES UF SR wilE SR § S 70 Tiae @E E g

Options:-

.1, Option ID :- 93,

. 2, Option ID :- 94,

. 3, Option ID :- 95,

« 4, Option ID :- 96,

Answer Given:- 3, Option ID : -95
Question ID:- 25

The Limited Test Ban Treaty (LTBT) signed in 1963 banned nuclear weapon tests
(1)  Only mn the atmosphere and outer space

(2)  Only in the outer space and underground

(3)  Only m the outer space and under water
(4)

Only m the atmosphere, outer space and under water
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Hifa Tiem wiaes |5y (ua FF 4 3, faaw 1963 H grer e o2, gy wfeemy o w{iem
T giadrad FHidl £

(1) ad aFgHza A7 il S
(2)  haed |l sdfier S i
(3) A FE AAE w5 IR & A

Options:-

.1, Option ID :- 97,

« 2, Option ID :- 98,

. 3, Option ID :- 99,

« 4, Option ID :- 100,

Answer Given:- 2, OptionID : -98
Question ID:- 26

Among the ﬁ\lh,}wmg which metal 1s more reachve ?

(1)  Copper
(2)  Iron
(3)  Zinc
(4)  Gold

]
(1) @
(2) @@
SEREED
(4) T
Options:-

.1, Option ID :- 101,
- 2, Option ID :- 102,
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« 3, Option ID :- 103,

« 4, Option ID :- 104,

Answer Given:- 3, OptionID : -103
Question ID:- 27

Which of the follfm:'ing is not present in the cvtoplasm ?
1) Mitochondria
Golai bodies

)
) Ribosomes
) Nucleus




F1T9eRT 258 | Tr=faiad | 9 a1 2af==d "2 21 & 7
(1) 2elhli~gH
(2) e

(:"»,) TTZ=THTH
(A—J:} = _,qr ]
Options:-

.1, Option ID :- 105,

- 2, Option ID :- 106,

. 3, Option ID :- 107,

. 4, Option ID :- 108,

Answer Given:- 4, Option ID : -108
Question ID:- 28

Who among the following playvers won the FIFA World Cup 2022 “The Golden Ball’ Award ?

(1)  Kylian Mbappe
(2) Cristiano Ronaldo
(3)  Lionel Messi

(4)  Neymar

TR deE @, 2022 H Fllesd die’ & sk ldfEd J A fEy et | s ?
(1) e wary

(2) TR TR

(3)  fosier et

(4) AR

Ppetprime.com

Options:-

.1, Option ID :- 109,

- 2, Option ID :- 110,

« 3, Option ID :- 111,

« 4, Option ID :- 112,

Answer Given:- 3, OptionID : -111
Question ID:- 29

Who among the tollowing authors won the ‘Sahitva Akademi Yuva Puraskar” 2022 in Sindhi
language 7

(1) Geeta Pradeep Rupani

(2) Kirti Pradeep Rupani
(3)  Monika Panjwani

(4)

Heena Aswani




st e H ' HifEeT wemeHT A qrER 2022 fEeriEn H A e o T S 2
(1) i galy =i
(2) IE W& =
(3)  HITRT S
(4) [ AL
Options:-

.1, Option ID :- 113,

- 2, Option ID :- 114,

. 3, Option ID :- 115,

. 4, Option ID :- 116,

Answer Given:- 2, OptionID : -114
Question ID:- 30

Which of the tollowing computer languages uses mnemonics ?
(1) High Level Language

(2)  Machine Language

(3)  Assembly Language
(4)

C Programming Language

(1) T3 =i=el e
(2) YA oed
)

)

1
i
£
:
:
s
5
:
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Options:-

.1, Option ID :- 117,
- 2, Option ID :- 118,
. 3, Option ID :- 119,

. 4, Option ID :- 120,
Answer Given:- 4, OptionID : -120

Subject : RA_Q31-Q35_PGTCHEM
Question ID:- 31

Choose the correct alternative that will continue the same pattern and replace the question mark
(?) in the given letter - cluster series.

HMS, MTB, SBL, ZKW, ?

(1) HVX

(2)  HUI
(3) KVL
(4) HWM




TH HEl famey ®1 =0 &1 S Al T SaR-HE gEe H gHl T # S HE E siR e e () e e
HMS, MTB, SBL, ZKW, ?

(1)  HVX

(2) HUI

(3) KVL

(4) HWM
Options:-

.1, Option ID :- 121,
- 2, Option ID :- 122,
. 3, Option ID :- 123,

. 4, Option ID :- 124,
Answer Given:- 2, Option ID : -122

Question ID:- 32 0
Six friends Anuradha, Abha, Manisha, Monika, Rashmi and Sulekha are sitting around a circula
table tacing cutside the circle (not tacing towards the centre). Anuradha is neighbour of Manish, U
and Abha. Anuradha is sitting third to the right of Monika and is second to the left of Sulekhe

Manisha is sitting third to the right of Sulekha. )
Who is sitting immediate right of Monika ? w
(1)  Sulekha

(2)  Rashmi
(3)  Manisha
(4 Abha
(] |

b

TE Feferd, SN, A, FATE, Wi, e S geE] U g 0 AW AT (9 F s # SR T Q
A FLER) dTEL H AR HE FIh 401 &1 S0, JAE AR S T2H g 1 SO, Wi & el dJR A
T O SR HoTEl Wk FE S GEE T W A4 g8 8 | AT, goE F 2 SN d9 T W S0l 88 8 H

iR % UHEH g 3 FE 9318 7 m
(1) e

(2) e Q
(3) =

(4) &

Options:-

-1, Option ID :- 125,
« 2, Option ID :- 126,
- 3, Option ID :- 127,
. 4, Option ID :- 128,
Answer Given:- 2, OptionID : -126

Question ID:- 33




‘B is to the North of “A” and to the West of "C’. In what direction is ‘C" with respect to “A’ ?
(1) North-East
(2)  North-West
(3)  South-East
(4)  South-West

BUAFIWHE AR CCF IR GO, A R R e T g2
(1) Zw-d

(2)  SH-ulvEH

(3 =fem-E

(4)  =fam-afEm

Options:-

.1, Option ID :- 129,

« 2, Option ID :- 130,

« 3, Option ID :- 131,

. 4, Option ID :- 132,

Answer Given:- 1, OptionID ; -129
Question ID:- 34

You are given a question and two statements numbered (I} and (II) each containing som
information. Decide which of the statements is/are sufticient to answer the question.

Prime.com

Q:  Avush and Ranjan are standing at a distance of 20 km. They start walking towards cacl
other. After how much time will they meet if they keep walking ?

(I) :  Avush and Ranjan walk at the speed of 2 km/hr and 3 km/hr respectively.

(II) : The speed of walking of Ayush to Ranjan is 2:3.

(1)  The statement (I) alone is sufticient to answer the question while the statement (1) alone i“
not sufficient to answer the question.

(2)  The statement (II) alome is suttficient to answer the question while the statement (I} alone 1 m
not sufficient to answer the question. Q

(3)  DBoth statements (I) and (II} together are necessary to answer the question.

Both statements (I) and (1) together are not sufficient to answer the question.




A= wek 99A fe e 2 e =g wea- {1) (I1) faw 770 2 TS oefes § 7w Senl &l % &1 2 A0

it T M J/A F99 799 T S 39 F fom v 208 2

El ﬂﬂlmmjt}ﬂ?m Wmmﬁ?’laﬁmaﬁﬂﬂ{ﬁ" % Fd 3 | Alg 31 For o

al frd 797 9@ U A H fHet ?
(1) : =gu &7 Lo shmwn: 2 fondl, siie 3 frdld &t afa & =era &)
(1) : =P 377 35 &1 =7 &1 7fd 2.3 %)
(1) &Ashed - (1) 81 994 1 35 a4 + o9y 05 & @i sishel shea- (1) 999 1 30 ¢4 + fofu, g

el 21
(2) el FHA-(1) B 997 ] I &1 F (a0 P & FEih kel F2A-(1) 797 &1 I 44 & [y W
ERAA

(3)  FEE-(1) AR FE-(W), B WY HEER G99 F 390 54 & [0 AEEE ¢
(4)  FHA-(I) AR FFA-(11), aF1 2 oo 97 999 &) 3 24 F o0 74T a8 E

Options:-

.1, Option ID :- 133,

. 2, Option ID :- 134,

« 3, Option ID :- 135,

. 4, Option ID :- 136,

Answer Given:- 1, Option ID : -133

Question ID:- 35

In the following figure, the square represents lawvers, the circle represents judges, the triangh

represents girls and rectangle represents honest people.

13

AN
12\ 8\ 15
9N\

20

Which number represents girls who are lawyers and honest but not judges ?
(1y 8§

(2) 12
(3) 14
(4) 15

Ppetprime.com
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Freafearfad emmg o ‘o' =gt &1 ‘ga’ sl L e el w1 @i Cwpa daEen @l
wfafifire e 7

14

AN
12\ 8\ 15
IR

20

13

e
1

F H A oA B S9dl & Al akie A1 SHAGR § Tdg 79 el § 7

R
(2) 12
(3 14
(4) 15

Options:-

.1, Option ID :- 137,
« 2, Option ID :- 138,
« 3, Option ID :- 139,

- 4, Option ID :- 140,
Answer Given:- 2, Option ID : -138

Subject : CL_Q36-Q40_PGTCHEM
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Question ID:- 36

Gagan Sen is planning to buy a new smartphone, which one of the tollowing aspects should he no
be bothered about ?

(1)  Operating system
(2)  Ethernet Port
(3)  Internal Memory
(4)

Camera Pixels

TR HA Wek A WHE A Eied F A 74 @ 2 | 2 FetatEd 1 9 e 9w F an d 9 1@ e

(1) AT fwn
(2) ETHE U

(3)  FZAA HEE
(1) FHa foeEe
Options:-

-1, Option ID :- 141,
« 2, Option ID :- 142,
- 3, Option ID :- 143,
- 4, Option ID :- 144,




Answer Given:- 2, Option ID : -142

Question ID:- 37

Which of the following ports will be most suitable for connecting High Quality Audio-Video output
omn a PC/a laptop ?

1y Ps2
(2) USB
(3)  VGA
(4) HDMI

feredl 1 Al 7 cuely ue 2 gaiferd] sAffedi-difedl srgeue & sdae wid & fofu Hdifye sugsd 1 &4 +
77

(1) il ud 2 (Ps2)

(2) A TE A (USB)

(3) =S T (VGA)

(4) THE € UH HE (HDMI)

Options:-

.1, Option ID :- 145,
« 2, Option ID :- 146,
« 3, Option ID :- 147,

. 4, Option ID :- 148,
Answer Given:- 4, Option ID : -148

petprime.co

Question ID:- 38

is not a basic function of MS Excel.

(1) count()
(2)  sum()

(3)  mm()

(4)  mulbply()

UH UH THE ] 4R e (function) T8 @ |

(1)  count()
(2)  sumf()

(3} min()

(4)  mulaplv()

Options:-

.1, Option ID :- 149,
. 2, Option ID :- 150,
« 3, Option ID :- 151,

- 4, Option ID :- 152,
Answer Given:- 2, Option ID : -150




Question ID:- 39

is the file extension of an Excel file ?

(1) excel

(2)  xel

(3) xlsx

(4)  xelx

feRdT TS WIZel @1 WIEA fET (file extension) TRl & 7

(1) excel

(2)  xel

(3)  xlsx

(4)  xelx

Options:-

.1, Option ID :- 153,

« 2, Option ID :- 154,

« 3, Option ID :- 155,

« 4, Option ID :- 156,

Answer Given:- 2, OptionID : -154
Question ID:- 40

Which of the tollowing is not an example of RDBMS ?

(1) MySQL
(2)  ORACLT
(3) CALC

(4) IBM DB2

(1) MvSOL
(2) ORACLE
(3) CALC
(4) BN DBE2
Options:-

.1, Option ID :- 157,
« 2, Option ID :- 158,
. 3, Option ID :- 159,

. 4, Option ID :- 160,
Answer Given:- 1, Option ID : -157

Subject : UL_Q41-Q55_PGTCHEM

Question ID:- 41
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The “cephalo-caudal” principle status that development of the body spreads from :

(1) legs to head

(2} heads to legs
(3)  the center of the body outward
(4)  outward to the center of the body

‘TR e’ Tagia o Fara € T i # faswm G
(1) TH M HR AR

(2) FRT T @

(3) YR % Heg H aTel il sn

(4) FEL H IR F A H 3N

Options:-

.1, Option ID :- 161,

- 2, Option ID :- 162,

- 3, Option ID :- 163,

. 4, Option ID :- 164,

Answer Given:- 2, Option ID : -162
Question ID:- 42

n the context of puberty, which one of the following is an absolutely correct option ?
(A)  Estrogen and Progesterone are temale sex harmones

(B)  Androgens and Testosterone are female sex harmones

(C)  Entregen and Progesterone are male sex harmones
(

D) Androgens and Testosterone are male sex harmones

(1) (B) and (C} are correct.
(2)  {A) and (C) are correct.
(3)  (A) and (D) are correct.
(4)  (B) and (D) are correct.

AR & He ©, frafafaa § 9 wm- fawey Hoga aft £7

(A} TEEA AN WSEE qE] A g ©
(B) TEMA &7 T=E0=IH Al JF BHE
(Cy U2 AW Arefigia 91 S 2 2

(D) UEreH R 2= W 5 2 8

(1) (B) :ﬂW(C) HEl 2

(2)  (A) =R () vdl &

(3)  (A) @N (D) 7 £ |
)

(4)  (B) =R (D) =2 # )
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Options:-

.1, Option ID :- 165,
. 2, Option ID :- 166,
« 3, Option ID :- 167,

- 4, Option ID :- 168,
Answer Given:- 3, Option ID : -167

Question ID:- 43

A teacher observes that his students are taller and heavier than before. On the part of the students
it shows them

) growth

(2) maturation

(3)  development
(4)

mc ‘rl"P hUgE‘ll(—‘H is

ek TE T8 SEd] € TR 39 o9 U8l @l 31987 " S geER 21 o T HA1 H g SARNST

F1 AT F |
(n Afs
(2)
(3)
(4)
Options:- '

.1, Option ID :- 169,
- 2, Option ID :- 170,
. 3, Option ID :- 171,
« 4, Option ID :- 172,
Answer Given:- 1, Option ID : -169

Question ID:- 44

Which of the following is the correct options ?

1
%‘
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(1)  Learning and mataration are two processes through which growth occurs
(2)  Progress and maturation are two processes through which growth occurs
(3)  Maturation and learning are two processes through which development occurs

(4)  Development and learning are two processes through which maturaion occurs

fefofaa § 9 @1 s w6 2 2
)y @At i afimEae =1 e # e wem | 3t @t 2
2)  9ifd #iE afvgeEEs & 9iEA € 5 wem 1 At gl 2
)
)

figaad 1 sl < ufshand € o qrean O o 2 2

farm =1 =3 =1 uiwen 2 To=er 9ise | 9gea 24 2 |

Options:-




.1, Option ID :- 173,
. 2, Option ID :- 174,
« 3, Option ID :- 175,

- 4, Option ID :- 176,
Answer Given:- 4, Option ID : -176

Question ID:- 45

Which one of he tollowing studied the child’s responses to moral dilemmas ?

(1)  Piaget

(2)  Erikson
(3)  Kohlberg
(4)  Skinner

U ERERIE
(2) WA
(3) o]
(4) TR
Options:-

.1, Option ID :- 177,
« 2, Option ID :- 178,
- 3, Option ID :- 179,

- 4, Option ID :- 180,
Answer Given:- 4, Option ID : -180
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Question ID:- 46

The cognitive aspects of the personality of an individual do not include his/her

(1) motivation

(2)  thinking

(3)  attention

(4)  perception

ol oAl & sAfadea & HAFIHS dae] § SHE! ot 2l ¥
(1) =

() fo

OEEEE!

(4) UeEE AH

Options:-
.1, Option ID :- 181,
. 2, Option ID :- 182,




. 3, Option ID :- 183,

. 4, Option ID :- 184,
Answer Given:- 1, Option ID : -181

Question ID:- 47

Read the following :

()
(B)
(©)
(D)

Which one of the followmg i1s the correct option ?

(1)
(2)
(5)
(4)

~ .m‘r\.- f a%,[ ."“? 1 :
Tl 3R FEfEA IR & E-fiE o v @ o TRaa En ©
Al S A EA H, vR & JHE 31 fae-Tve @ w fastad gn §

AR AR ASEAl 1, IR F T fa= e/ fa= - fa= &t W ot 26 2
oTed] S cAafedl H, YN o 9HF 37 HHA L 9L fdahiad g 2|

Among boys and eirls, ditferent parts ot the body erow at same rate.

i - (] }' . L

Among boys and girls, same parts of the body grow at ditterent rate.

Amonyg bovs and virls, different parts of the bodv erow at different rate.
o - o R

Among bovs and girls, same parts of the body grow at same rate.

(A) and (D) are correct.
(B) and (C) are correct.
(C) and (D) are correct.
(

A) and (B) are correct,

P

(1) (A) #F (D) AT £

(2)  (B) #W(C) Wl T

(3)  (C) ¥ (D) 72 E |

(4)  (A) S (B) FE E
Options:-

.1, Option ID :- 185,
« 2, Option ID :- 186,

TfAtEd | | A HJ 9T 98 2
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« 3, Option ID :- 187,

« 4, Option ID :- 188,
Answer Given:- 2, Option ID : -186

Question ID:- 48

Pre-school children trust on their parents as a secure base to explore the environment. This shows

their
(1)
(2)
(3)
(4)

cognitive development
social development
emotional development

moral development




ForITeT-al =eteh STATE0 ) ETsH & felu 774 Tia-ar o v Jifed =790 & =0 3 favawm #8178
e RGNS

(1) HIFTHE TIhHE

(2)  wTHITSTE Tk

(3)  HTFATHER ICEAL]

(4) A fasm

Options:-

.1, Option ID :- 189,
« 2, Option ID :- 190,
. 3, Option ID :- 191,

« 4, Option ID :- 192,
Answer Given:- 3, OptionID : -191

Question ID:- 49 0

A teacher gives a problem to adolescent students that "X is taller than Y, Y 1s taller than 7 then whu U
is the tallest” ?

This teacher expects that this problem : ¢
(1)  is too easy tor the students as it requires svmbolic thinking w

2 can not to be solved by the students as it requires eritical thinking

(2)
(3)  can be solved by the students as it requires abstract thinking
(4)

4)  should not be given to the students as 1t requires concrete thinking

Ueh 3= R0 wlE] i Ush 094 cdl 2 00 XY 9 oidl 2 20 Y, Z 9 ofell 2, 4] 9add oi=] i &' 7
TE AR ST FA B TR T8 T

~

(2) DI N EE TRl [FA S WEdl # 5H0F (o AT (9a7 & ATEashd ¢ |

= e

(%)  THEIGFI B @A S Hehdl & FAIF 3H el S [Ha &l AEvIE 2 |

(] |
(1) Bl F o0 w6 ST & #9176 290 Yaihled® fHaa & dAavTFd § | “
(4) =l w1 Rl T s =nfen w6 s fau wd foam = wEvEsa 2 Q

Options:-

.1, Option ID :- 193,

« 2, Option ID :- 194,

« 3, Option ID :- 195,

. 4, Option ID :- 196,

Answer Given:- 1, Option ID : -193
Question ID:- 50

in case of adolescents, the peers, parents and teachers have no influence on their -

social development

) cognibive development
) physical development
)

emofional development




sl = wmel o, Femfed], wia-Taa s S=mE &1 55 T IS 4 A2l gedl |

Tt T

HAATF TR

)
)

(3) W P
) MTEATHSE (3R

Options:-

.1, Option ID :- 197,

- 2, Option ID :- 198,

. 3, Option ID :- 199,

. 4, Option ID :- 200,

Answer Given:- 3, Option ID : -199
Question ID:- 51

The word adolescence has been derived from the word “adolescene” which is a -

(1)  Latin word

(2)  Greek word

(3)  Japaneese word

(4)  African word

‘TEEH = W TR g T o AT ] T 9= ©
(1) cife

(2) IE

(3) ST

(4)  ITRIHT

Options:-

.1, Option ID :- 201,

- 2, Option ID :- 202,

. 3, Option ID :- 203,

. 4, Option ID :- 204,

Answer Given:- 1, Option ID : -201
Question ID:- 52

The socialization agents support an mndividual in -
(1) learning

) confirmity

) communicabtion

growth
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HIHMS R0 i ThHl oAfad &l

(1) sy
(2)  SALEA
(3)  Hygm
(4) T3
Options:-

.1, Option ID :- 205,
- 2, Option ID :- 206,
. 3, Option ID :- 207,
. 4, Option ID :- 208,
Answer Given:- 3, Option ID : -207

Question ID:- 53

Socialization helps an individual in establishing his/her :

(1) selt-identity
(2)  social identity
(3)  group image
(4)

community identity

(1) F=-T8=H

(2) A TEEE
(3) wE ==

(4) HHEE TEAH

Options:-

.1, Option ID :- 209,

« 2, Option ID :- 210,

. 3, Option ID :- 211,

. 4, Option ID :- 212,

Answer Given:- 2, OptionID : -210

Question ID:- 54

‘Shiksha Karmi Project’ of Rajasthan is :

H HErada] i g1

(1) the name of professional development programme of school teachers
(2)  concerned with identitying outstanding contribution of school teacher n education
(3)  scholarship programme tor meritorious pre-service teachers

a way to ensure community participation in formal education
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TSR ] fore T O
(1) kel a9l G91E fakrd HrEs *1 AH

(2) Torn § wEe SO F IFE EE H TE5GM G H Fa806

(3)  HHTET HEl Qe SATTH % AU B wEE
(4)  ATTEICE TR H WEE % WG] HATEa 9 UE

Options:-

.1, Option ID :- 213,

- 2, Option ID :- 214,

. 3, Option ID :- 215,

. 4, Option ID :- 216,

Answer Given:- 2, OptionID : -214
Question ID:- 55

In India, home schooling 1s recognized by :

(1) NIOS
(2) CBSE
(3) 1B

(4) ICSE

i H oL foren 24 (2 wpien) 1 feEs gR HEatl 96 S @ 7

(1) T 375, 3105,

(2) TELTAZ

(3) STEE

(4) HARFELTAE
Options:-

.1, Option ID :- 217,
« 2, Option ID :- 218,
. 3, Option ID :- 219,

« 4, Option ID :- 220,
Answer Given:- 1, Option ID : -217

Subject : UTL_Q56-Q70_PGTCHEM
Question ID:- 56

Which of the fDHDwing statements 1s not true about curriculum ?

(1)  Curriculum is a complete set and very broad in nature.

(2)  Curriculum mcludes the planned and guided learning experiences.
(3)  Curriculum is descriptive in nature.

(4)  Curriculum is framed by high level educational experts.
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T4 & 91 | 1 J F9F Tl T 8 7
(1) = uw = W2 @ a fasgd e #= g
(2) dEEEA | AEES R R i smvE e g )

(3)  TEFEA FUEEE R F 2 2

(4)  TEIEE T wR & ST e g A feen s g

Options:-

.1, Option ID :- 221,

. 2, Option ID :- 222,

. 3, Option ID :- 223,

. 4, Option ID :- 224,

Answer Given:- 3, Option ID : -223

Question ID:- 57

Which of the fDHf}wing is not commonly used approach for curriculum development ?

(1)  Subject centred approach

(2)  Community centred approach
(3)  Child centred approach
(4)

Lite centered approach

iz sk H fefalad § S e 9 S0 o) s T e @ e s g

(1) Tawr-wf=a 3aem

(2) HHEM-ehi=d IU0TH

(3)  ATA-FEd SIATH

(4} “4’-\[ el I_E-gl;haii SUTTH

Options:-

.1, Option ID :- 225,

. 2, Option ID :- 226,

. 3, Option ID :- 227,

. 4, Option ID :- 228,

Answer Given:- 4, Option ID : -228
Question ID:- 58

Which one ot the following is the key to Competency Based Education ?

(1) Acquisition of skill (s)

(2)  Learning at one’s own pace
(3)  Immediate feedback

(4)  Mastering learning

Ppetprime.com




- e

TEAfeATEd | A A gara A foren 1 fAgme & 2
2)  TEE & A H W
)
)

TRl THIZaH
TEToET AfsTH
Options:-

.1, Option ID :- 229,

- 2, Option ID :- 230,

. 3, Option ID :- 231,

. 4, Option ID :- 232,
Answer Given:- 3, OptionID : -231

Question ID:- 59

‘Assessment as learming © is

(1)  Partially teacher controlled
(2)  Enfirely teacher controlled
(3)  Partially student controlled
(4) Intirely student controlled

(1) sifers =y 3 sy gl

(2) l"i_ur“-'i‘iﬂ 2T TT5R %_E r'"lﬂtr-;.]d
(4) ol e e

Options:-

.1, Option ID :- 233,

- 2, Option ID :- 234,

« 3, Option ID :- 235,

« 4, Option ID :- 236,

Answer Given:- 1, Option ID : -233

Question ID:- 60

Which one the following can be most useful in developing a habit among children to search from

new knowledge from the familiar environment ?
(1) Text book

(2)  Integrated text books
(3)  Exposure to 1CT
(4)  Exposure to real life situations
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(1)  Hea-T=%

() wHfeRd WA g

(3) AT A E SEEE

(4)  drlaes sfiaq &) frafaei s s

Options:-

.1, Option ID :- 237,

« 2, Option ID :- 238,

. 3, Option ID :- 239,

« 4, Option ID :- 240,

Answer Given:- 4, Option ID : -240
Question ID:- 61

Main limitation of Computer Assisted Instruction (CAIl) is that :
1) Itis a self learning technique.
[t uses mix of text, graphics, sound and videos.

(

(2)

(3)  Its learning is too mechanical.
(4)

it provides mmediate feedback,

FHg2 A sqavA (| 0 ) B g aHl g g

(1) 7% UF @E-ATFH TFAF 5

(2) I 12, WimEH, =i =0 =ifed) & Hgm %1 wdr & 2 |
(3) 2R Al efus Tyl B

HJ‘ Az ekl ‘hnl.g:-iqj T Rl %I

Options:-

.1, Option ID :- 241,

- 2, Option ID :- 242,

« 3, Option ID :- 243,

« 4, Option ID :- 244,

Answer Given:- 3, Option ID : -243
Question ID:- 62

Which one ot the following is not a characteristic of a teacher made test ?
1) Norms are available [or comparison.

) Helps identifying learning diltficulties of pupils.

) Can contain variety ol items.
)

Covers imited number of competencies.
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(1) dofl & foiu yede Sues 7|

(2)  BE T AFTE Heiell R F TR R TR H
(3) THH FE WE F I3 i 2 9% § |

(4) IS AT | A0 w1 FET w2

Options:-

.1, Option ID :- 245,
- 2, Option ID :- 246,
. 3, Option ID :- 247,
. 4, Option ID :- 248,
Answer Given:- 4, Option ID ; -248

Question ID:- 63

Which of the following may not be a part of strategy for preventing indiscipline ?
(1)  Adoption of task oriented approach

(2)  Provision of a long list of restrictions which you expect to maintain

(3)  Evolving rules through discussion with students

(4)  Prawising/ Appreciating students for their good achievements

frefefad 5 3 0 AeEEa 9 =99 & i E e T g 7
(1) HERE 3907 ] SH9HH

(2) 9=l 1 U el JE F WEeE 5 A e e 2

)

)
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Options:-

.1, Option ID :- 249,

- 2, Option ID :- 250,

« 3, Option ID :- 251,

« 4, Option ID :- 252,

Answer Given:- 2, Option ID : -250
Question ID:- 64

Which of the following classroom practice is not an outcome of Behavior modification approach?
(1) Repetition without reinforcement does not enhance learning,

(2)  Punishment is very effective for eliminating undesirable behavioer.

(3)  Interest in work and improvement is conducive to learning.
(4)

Variations in presenting the reinforces help modification ot behavior.




- e

THferfEa 5 9 A =1 Fe TR =egr uiigds 3UrTH &1 U 9o T8 8 7

(1) 9Asier & foen grawafa O sifymm o ofg =480 ddl 21

(2) AT FIEER T HETE % {0 22 HR AT 8
(3) FE T wE AR U s F fau wereE w2

(4)  TAHEA B H F5ed J HEer THEdd H el Herdl # |
Options:-

.1, Option ID :- 253,

- 2, Option ID :- 254,

. 3, Option ID :- 255,

. 4, Option ID :- 256,

Answer Given:- 2, Option ID : -254
Question ID:- 65

Which is not a characteristic teature of course delivery in “teacher centred approach’ ?
(1)  Use of lecture method

(2)  Summabive tests

(3)  Active leaming
(4)

No unit planning and unit test

‘e hfad sup o favg qem L v =iflEe g e W TE 8 7
(1) = fafa & wm

(2) AT T

(3)  HiEA s

~ F

(4) TE TS ATA T FHRE T A

Options:-

.1, Option ID :- 257,

. 2, Option ID :- 258,

. 3, Option ID :- 259,

- 4, Option ID :- 260,

Answer Given:- 3, Option ID : -259
Question ID:- 66

Read the tollowing carefully :

(a) Students are working individually or in small groups.

(b)  They are busy analyzing the identified theme within a pre-set time limit
(¢} They are dealing with ‘real lite” problem.

Which method of teaching-learning is being followed ?

(1) Problem solving method

(2)  Project method
(3)  Discovery method
(4)  Play way method
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(2) i fafy
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)
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Options:-

.1, Option ID :- 261,

« 2, Option ID :- 262,

. 3, Option ID :- 263,

. 4, Option ID :- 264,

Answer Given:- 3, Option ID : -263
Question ID:- 67

Which of the following restrictions will not be ettective inmmaking an essay type item as restric e
response item ?

Restriction to be imposed on :

Ppetprime.com

(1) Length of response

(2) Content of response
(3)  Duration of response
(4) Convergent thinkmg

T FEaEE Ye & U difgd gl ue s 5 s 9 wiasy gt 98 2

FIGE S RE s B R I

) HfAREE T e

) WrdfsR= F fFum T m
(3)  wfafwar =i safy 9t

) AFHEE fe= T

Options:-

.1, Option ID :- 265,

« 2, Option ID :- 266,

- 3, Option ID :- 267,

« 4, Option ID :- 268,

Answer Given:- 4, Option ID : -268

Question ID:- 68




Which one of the following is not a characteristic ot ‘integrated teaching’ ?

(1) Flexable student groupings

2 Inflexible schedules

(2]
(3)  Sources that go beyond textbooks
(4)

4 Relationship among concepts

- e

TefetEd O 9 % 9 A0t w5 s faeear W@ E Y

(1) &= B HYEA
(2)  TR-THEen wEEE

)
)

(3)  WZA-9ih H gl Hid
)

HhRea1z & =99 HaY

Options:-

.1, Option ID :- 269,

- 2, Option ID :- 270,

- 3, Option ID :- 271,

. 4, Option ID :- 272,

Answer Given:- 2, Option ID : -270
Question ID:- 69

[n the final analysis, the key to motivation in classroom 1s :
(1) The interest inherent in the subject matter

(2)  The teacher’s personality and his/her teaching method
(3)  The emotional climate of the classroom
(4

The suitability of curricular experiences in the class

o

HATGH AT |, ey | AR & 2 el 2

(1) fawm-awg d siaffea wf=

(2)  HATIF T A AN SHH] 1A &ty
(3)  HE W] AERHE AR

(4) e H WA Ha SvE # I
Options:-

.1, Option ID :- 273,
- 2, Option ID :- 274,
- 3, Option ID :- 275,
. 4, Option ID :- 276,
Answer Given:- 1, Option ID ; -273

Question ID:- 70
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Aptitude Tests measure :

(1) Potentiality

(2)  Proficiency

(3)  Likely success in a profession
(4)

Achievement

sAfae= T JIdr 2

(1) TV

(2) WU

(3) Tl 991 ° Hvlea Jhetd
(4) wifE

Options:-

.1, Option ID :- 277,
- 2, Option ID :- 278,
- 3, Option ID :- 279,

. 4, Option ID :- 280,
Answer Given:- 2, Option ID : -278

Subject : CCLE SOL PE_Q71-Q80_PGTCHEM
Question ID:- 71

By tollowing, which one of the actions, a school can act as a 'learning resource’ tor community
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(1) By organizing educative movie shows in community

(2) By nominating teachers as members of all local civic bodies

(3) By organizing ‘discussion camps’ on social issues in comumunity
(4) By mviting community people in science exhibitions in schools

e o 9 TRa T3 &1 ST, U SR JUEE & (A S w1E | =q e g

(1) Terg o viemk fheq m smtsa w5
(2)  O¥l TarHE fREl 5 fowern] &) Amifad s

)
)

(3)  HHE § " g7 W w9 St #
)

ETE o AR R el § T e # s

Options:-

.1, Option ID :- 281,

- 2, Option ID :- 282,

. 3, Option ID :- 283,

« 4, Option ID :- 284,

Answer Given:- 1, Option ID : -281

Question ID:- 72




How a community can contribute best to school as a “learning resource’ ?

(1) By selecting its best persons from all vocations to interact with students and teachers
(2) DBy effectively participating in P.T.A. meetings

(3) By donating generously for school development
(4)

By providing free of cost, best technicians to build school labs ?

U W e &1 sty Ja’ B 9 AneE R T € Hehd € 7
(1) |1 ==EmE | 9= @ =t F fmiel SR el & @y s Jafwa gu
(2)  @AfnTEE e GEE T wemEr wEiERt 5

(4) TRl W WENEE] 1 S # T gradd deikl w0 H Sl

Options:-

.1, Option ID :- 285,

- 2, Option ID :- 286,

- 3, Option ID :- 287,

. 4, Option ID :- 288,

Answer Given:- 1, Option ID : -285

Question ID:- 73

As per WHO which one of the following is not an indicator of sound mental health ?
(1) Sense of Coherence

(2)  Optimism

(3} Sense of Control

(4)  Confidence

o T WeA F SFEN 3 WATHE T & RE A9 AT TR w

(1) gHald =+ =m

(2) TS

(3)  TE=m R T
(4)  STHIEAIAT
Options:-

.1, Option ID :- 289,
« 2, Option ID :- 290,
. 3, Option ID :- 291,
« 4, Option ID :- 292,
Answer Given:- 2, Option ID : -290

Question ID:- 74
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How many tvpes of disabilities have been identified through RPWD Act, 2016 ?

(1) 18
(2) 19
(3) 21
(4) 23

(1) I8
(2) 19
(3 21
(4 23
Options:-

.1, Option ID :- 293,

- 2, Option ID :- 294,

- 3, Option ID :- 295,

. 4, Option ID :- 296,

Answer Given:- 2, Option ID : -294

Question ID:- 75
Which one of the fulluwing member of school developmentplanning committec is likely to contribut
minimunt ?

(1) District inspector of schools

Ppetprime.com

(2)  Manager of an adjoining industry
(3)  TParents ot school children
(4)  Professors of a nearby college

el T s Jfafa & = 1§ 9 F9-1 999 § 999 5 ArEE F# 1 J9E § 2
(1)  Tsen fammem e
(2) T2 = 3= w gEEE

(3) kel F=dl o HAMUES

(4) 9% = "R & 9T

Options:-

.1, Option ID :- 297,

- 2, Option ID :- 298,

. 3, Option ID :- 299,

- 4, Option ID :- 300,

Answer Given:- 2, Option ID ; -298

Question ID:- 76




Which one ot the tollowing can provide a good school leadership ?

(1) A teacher who has a mastery i communication

(2} A teacher who involves learners and seeks their partnership even in teaching
(3) A teacher who recently passed a course on school leadership with distinction
(4)

A teacher who was elected as president of teacher association

91 o | FH-H1 UF Fhel &l 992 A9 WaH F HEAl & 2

(1) e forarw = Hyow H wE
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)
)
(3)  ueh foragen Toid 1ol H @ wenet Aged ut Ty 2ivrdn 4wy ard gl 2
) U TorerE S ToeTR 9REE W SR oA T 2

Options:-

.1, Option ID :- 301,

- 2, Option ID :- 302,

- 3, Option ID :- 303,

. 4, Option ID :- 304,

Answer Given:- 3, Option ID : -303
Question ID:- 77

[n the present school scenario which role 1s generally not expected from a school teacher ?

Cwrriculum designing

Ppetprime.com

(1)

(2) Reflective practitioner

(3)  Team builder and initiatoy
(4

Coach and mentor

ATHM e i Bl H Sl T W W TR W & e s S el S 8 7

Ll) == r % r
(2) o= 1 F

(3) MM FAE S I A
(4) HME R FEIE

Options:-

.1, Option ID :- 305,
- 2, Option ID :- 306,
. 3, Option ID :- 307,
- 4, Option ID :- 308,
Answer Given:- 1, Option ID ; -305

Question ID:- 78




The best role ot a school teacher as a coach is retlected in the act ot
(1) Cuwrriculum plamung

(2)  Preparing students for examination

(3)  Story telling
(4)

Evaluating student’s performance

UF [ B9 H AFTE & g=an iHE we Tl g2
(1) e fmp 5

(2) T R I T AR O

(3) el A H

(4) B F A % geEa o

Options:-

.1, Option ID :- 309,

- 2, Option ID :- 310,

- 3, Option ID :- 311,

. 4, Option ID :- 312,

Answer Given:- 2, Option ID : -310
Question ID:- 79

Mes. Nair, the language teacher was told by her Principal, "Our education minister has come throug]
this new technique of evaluation and he wants us to Implement it immediately.” This is an exampl

of '
(1) Demonstration Model

(2)  Grassroot Model

(3)  Administrative Line Staif Model

(4 Activity Model

“rar fovagen 4 A A 1 S W A e, EH 2 HHl ) ericha i s g fafu ) v el © i
=ed § T 25 30 ek @] | TR TR SeRa § 7

)

(2) = wiaHE =
)
)
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mfafafs gfaam =1

Options:-

.1, Option ID :- 313,

. 2, Option ID :- 314,

- 3, Option ID :- 315,

. 4, Option ID :- 316,

Answer Given:- 3, Option ID : -315

Question ID:- 80




The most suitable stage to develop analytical and critical thinking among students is

(1) Primary level

(2] Middle school level

(3)  Secondary school level

(4)  Senior secondary school level

2 H fage e ae S F e fawiaa w3 2 99 30 W gy

(1) 9= e =1
(2) Tofed =Fa =1

)
)

(3)  HEAMHE Ehe i
)

A WA el

Options:-

.1, Option ID :- 317,
- 2, Option ID :- 318,
- 3, Option ID :- 319,

. 4, Option ID :- 320,
Answer Given:- 3, OptionID : -319

Subject : CHEM_Q81-Q180_PGTCHEM
Question ID:- 81

Arsenic (1) sulphide reacts with oxyveen to form arsenic (I111) oxide and sulphur (IV) oxide :
_As, 5.+ _0, — _AS, 0, + S0,

What is the coefticient for O, when the equation is balanced using whole number coefficents ?
(1) 5

Ppetprime.com

2y 7
(3 9
(4) 11

u "

A (1) FvwEe, @EbdqE ([1) AJiFze {57 9okl (V) @F9Ee 991 & (oo sjadiaa & qr
P e - T %_ +
O, o1 UM =671 & 19 33 HER &1 0 S 00T 1 WA & Hqied (A Sl 8

(1) 3
(2) 7
(3 9
(4) 11

Options:-

.1, Option ID :- 321,
« 2, Option ID :- 322,
« 3, Option ID :- 323,




. 4, Option ID :- 324,
Answer Given:- 3, Option ID : -323

Question ID:- 82

When FeCl, i1s ignited in an atmosphere of pure oxygen, the reaction that takes place is :
dFeCly(s) + 30,(g) — 2Fe,04(s) + 6Cl,(g)

If 3.0 Mol of FeCl; are ignited in the presence of 2.0 Mol of O, gas, how much of which reagent is

present of 2.0 Mol of O, gas, how much of which reagent is present in excess and therefore remain
unreacted ?

(1) 0.33 Mol FeCl,
(2)  0.67 Mol FeCl,
(3) 025 Mol O,
(4) 030 Mol O,

54 FeCl, 1 9[E a4 = aeaio] § g=afad fF0 se 2, a1 51 gfatwmn 2di 2 98 2
4FeCls) + 304(g) — 2Fe,04(s) + 6Cl ()
qfg 2.0 Hid O, T8 @) Iufeafd 4 FeCl, + 3.0 Hid & ysafod Al Sid €, a1 (59 A & fhde

(1) 0.33 Mol FeCl,
(2)  0.67 Mol FeCl,
(3)  0.25 Mol O,
(4)  0.50 Mol O,

Options:-

.1, Option ID :- 325,

- 2, Option ID :- 326,

. 3, Option ID :- 327,

. 4, Option ID :- 328,

Answer Given:- 1, Option ID : -325
Question ID:- 83

Magnetite FeqOy, 1s a mixture of iron (II) oxide and iron (IIT) oxide. What is the most likely ratio o
ron (1) oxide to won (1) oxide m magnetite ?

M 1:1
(2) 1:2
(3) 2:3
(4) 3:2
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Tz, FeaO,, A (1) AFEES H1 APRA (I11) AFES & g 2 g 0 AP (1) AR |
AP (110) SRS 1 370 Jwifaa s39a #97 § 7

(1 1:1
(2) 1:2
(%) 2:53
(4 5:2
Options:-

.1, Option ID :- 329,

- 2, Option ID :- 330,

« 3, Option ID :- 331,

« 4, Option ID :- 332,

Answer Given:- 1, Option ID : -329

Question ID:- 84
Calculate the volume of 0.110 M Copper (I} nitrate solution that can be prepared by dissolving
33.29 o of Copper (1) nitrate trihvdrate in sufficient distilled water.
The Molar mass of Cu(NOy), - 3H,0 15 2416 ¢ mol :

(1) 050 L
(2) 125 L
(3) 250L
(4) 375 L

Ppetprime.com

110 M &M (IT) AELE fGeq &1 | &) 0 &L S 96 A= Ed S | 3329 o (1) el
Zr5EIsEe A el AR fen 51 93] 81 Cu(NO,), . 3H,0 1 76 Z9F . 2416 g mol ~ | % &7@
Zl

(1) 030L
(2) 5L
(3) 250 L
(4) 275 L
Options:-

.1, Option ID :- 333,
- 2, Option ID :- 334,
« 3, Option ID :- 335,
« 4, Option ID :- 336,
Answer Given:- 2, Option ID : -334
Question ID:- 85
The formula of sodium tungstate 1s Na,WO, and that of lead phosphate is Pby(PO,),. What is the
tormula for lead tungstate ?
(1) TbWoO,
) Ph{WO,),
(3)  Phy(WO,),
(4)  Pby(WO,),




Hifeam Fm2e &1 43 Na,2WO, € 301 o1 TR &1 J4 Phy(PO,), & | 012 21R22 &1 44 #11 211 & ?

(1)  PPbWOQ,

(2)  Pb(WO,)
(3} Thy(WOy),
(.4 } Pb;—\ (.“'VO 4 );1

Options:-

.1, Option ID :- 337,
« 2, Option ID :- 338,
« 3, Option ID :- 339,

- 4, Option ID :- 340,
Answer Given:- 1, Option ID : -337

Question ID:- 86

An electron can move from one orbital of a hydrogen atom to another. In which transition will th
photon of highest energy be emitted ?

() 2p —
(2) 1s —» 2
(3) 35 —

(d) 2s — 3

Uk SoieRl SIEEIe LA oF Weh el Rl e H Heer & whdl © ) fEe dean F waifas e # 0

TR FeATSd 2 7
(1) 2p — 1s
() 1s — 2p
(3) 58 — 2s

(4) 25 — 3

Options:-

1s

.1, Option ID :- 341,
« 2, Option ID :- 342,

. 3, Option ID :- 343,

. 4, Option ID :- 344,
Answer Given:- 1, Option ID : -341

Question ID:- 87

Which electron configuration represents a violation of Hund's rules ?

-
2

(1) 1L 11 1T(1]1
(2) 1L 11 11
(3) 1L 11 TL{TE[ 1
(-h) 1L 11 11

rime.com
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&1 dl Zelaid fa=1d g2 & i F seorm = fsqo a1 2 2

(1)

(4)

11 11 111

11 11 111

11 11 T[T 1

11 1L T 1

Options:-

.1, Option ID :- 345,
« 2, Option ID :- 346,
« 3, Option ID :- 347,

. 4, Option ID :- 348,
Answer Given:- 4, Option ID : -348

Question ID:- 88

Comsider the species

70
r“Zr\, 3 At-_. dnd

30
(1) Electrons
(2)  Protons
(3)  Neulrons
(4)  Protons and neutrons
T 270, j3As AT L Ge W AR F 1T
(1) ZAHM
(2) WA
(3) =M
(4) @2 S 22
Options:-

.1, Option ID :- 349,
« 2, Option ID :- 350,
. 3, Option ID :- 351,

. 4, Option ID :- 352,
Answer Given:- 3, Option ID : -351

Question ID:- 89

Ge These species have the same number of :

Slaﬂﬁ’:ll T feifea 5 1 f

EZ:ER

T H = HEE E
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What is the atomic weight of a hypothetical element consisting ot two isotopes, one with mass
64.2 u (25%) and the other with mass 65.3 u ?

(1) 633 u
(2) o440
(3) 649 u
(4)  65.0u

U, AT Aol (S &l HHEE HOH U 642 u (25%) STHM a1l HE FE 653 u BT AT F
TIHT] R T E

(1) 633 u
(2) oddu
(3) 649 u

(4 653.0u

Options:-

.1, Option ID :- 353,

« 2, Option ID :- 354,

. 3, Option ID :- 355,

. 4, Option ID :- 356,

Answer Given:- 4, Option ID : -356

Question ID:- 90

What is the frequency of light having a wavelength of 4501078 m ? (Given: ¢ =3 x 10° ms™ ')

(1) 284x10-124-1
() 210x10*s7!
(3)  +29x 101 5!
(4) 6671000 5!

15010~ 8 m TR g 9 &l A A Fd 22 (Fa 2 =32 108 ms™ 1)

(1)  284x10 =gt
(2) 2.10x 104 s~
(3)  £29x 1014 5!
(4)  6.67x 1007 s

Options:-

.1, Option ID :- 357,

« 2, Option ID :- 358,

« 3, Option ID :- 359,

. 4, Option ID :- 360,

Answer Given:- 4, Option ID : -360

Question ID:- 91

iMnme.Ccomnm
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When the acids H:’S@, HBr and HI are arranged in order ot increasing acid strength, which 1s the
correct order ?

(1)  H,5e < HBEr < HI

(2)  HBr<HI<H,5e

(3)  HBr < Hs5¢ < HI

(4)  HI < HySe < HBr

A H,Se, HBr 37 HI &1 92dl g2 5% W & %0 H oxaled &) 51 8, #F-9 &9 980 § 7

(1)  HSe < HBr < HI
(2)  HBr < HI < H5
(3)  HBr < HSe < HI
(4)  HI < H,Se < HBr

Options:-

.1, Option ID :- 361,

- 2, Option ID :- 362,

- 3, Option ID :- 363,

. 4, Option ID :- 364,

Answer Given:- 1, Option ID : -361
Question ID:- 92

Which metal requires the least energy to exhibit the photoelectric effect ?

Ppetprime.com

(1) Cs '
(2) Ca

(3) Cu

(4) Hg

FIEEAEEF YT UETIA I o Tl fFH g T FaH FH Fw & AETEhdl 26l ¢ 7

(1) Cs

(2y Ca

(3y Cu

(4)  Hg
Options:-

.1, Option ID :- 365,
- 2, Option ID :- 366,
. 3, Option ID :- 367,
. 4, Option ID :- 368,
Answer Given:- 1, Option ID : -365

Question ID:- 93




Which group of elements is listed in the order of increasing boiling point ?
(1)  Lithium, sodium, potassium

(2)  Chlorine, bromine, odine

(3)  Sulphur, chlorine, argon
(4)

Zine, cadmium, mercury

FEd gU FAYAIF oF ohH H ded| & (hH HYE ] GG R T g
(1) Taferm, wfeam, Tefrm

(2) AR, "EE, AEEA

(3)  Hew, A, HIA

(4) 5=, F=lrm, ]

Options:-

.1, Option ID :- 369,

- 2, Option ID :- 370,

- 3, Option ID :- 371,

. 4, Option ID :- 372,

Answer Given:- 2, Option ID : -370
Question ID:- 94

Which pair of atoms should form the most polar bond ?

(1) BandF
(2) Cand O
(3) OandT
(4) Fand N

AT o TFH 912 1 F999 A9 gdim J957 740 7

(1) BSiLF
(2) C#HTO
(3 O3RF
(4) F3HIN
Options:-

.1, Option ID :- 373,
- 2, Option ID :- 374,
. 3, Option ID :- 375,
- 4, Option ID :- 376,
Answer Given:- 1, Option ID ; -373

Question ID:- 95
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The first five 1onization energies, in k] mol™ L for a particular element, are shown in the table

below
First Second | Third | Fourth Fitth
580 1,815 2,740 11,600 | 18,500

The element is likelv to form ionic compounds m which its charge 1s:

() 1+
(2) 2+
(3) 3+
(4) 4+

feopdd] ded o fett k] mol = ! o 98 9= il sl fomrd 12 &

.

el FRaL SIESEA|

EIEl

W

Tf=ET

580 1,815 2,740

11,600

18,500

ded o 1A F0E 41 H gl g faEy gqE 379y B

(1) 1
(2) 2+
(3) 3+
(4) 4+

Options:-

.1, Option ID :- 377,
. 2, Option ID :- 378,
« 3, Option ID :- 379,
« 4, Option ID :- 380,
Answer Given:- 1, Option ID : -377

Question ID:- 96

The arrangement of the atoms m the ammonia molecule at its lowest energy 1s described as :

(1) Trigonal pyramidal
(2)  lrigonal planar

(3)  Trigonal bipyramidar
(4)  Square planar

AR 0] H WE] T =09 S W S99 &1 59 ®9 H g0 @ 7

(1) fmi ffe
(2)  TeRE HHdeld

)
)
(3) P fofaufivs
) = HHaAE

Options:-
.1, Option ID :- 381,
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. 2, Option ID :- 382,
« 3, Option ID :- 383,

« 4, Option ID :- 384,
Answer Given:- 1, Option ID : -381

Question ID:- 97

In which of the tollowing compounds would the molecules be expected to be linear ?

(1) Oy

(2) SO,
(%) H,O
(4) CO,

foret #ifren 1 sy o6 wgly & #) s #F o HeEdl © 7

M O,
(2) SO,
(3) H-,O
(4) C 02

Options:-

.1, Option ID :- 385,

. 2, Option ID :- 386,

« 3, Option ID :- 387,

- 4, Option ID :- 388,

Answer Given:- 4, Option ID : -388
Question ID:- 98

What is the hvbridization of the S atom 1s 5F ;7

(1) spz
(2 sp’
(3) spd
(4)  spid?

SF, H S TEH] ] HeRI ) E

(1) HP:
(2)  sp’
(3)  sp 3d

(4)  sp*d?

Options:-

.1, Option ID :- 389,
. 2, Option ID :- 390,
« 3, Option ID :- 391,

« 4, Option ID :- 392,
Answer Given:- 3, Option ID : -391
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Question ID:- 99

One way of writing the Lewis structure of the cvanate ion OCN ™ is [O=C=N]~. What are the

tormal charges on the O, C and N atoms, respectively, for the structure ?
() 0,0 -1

(2) 1,00
(3) -1, +1, -1
(4)  -2,1,0

HgAZ P OCN ™ #h1 off8 He 1 fovga =1 us il [O=C =N|~ &1 5= o fau swmen 0, ¢
AN N WHEHAT 91 e s e E

() 0,0, —1
(2) 1.0,0

(M -1, +1, =1
(4) -2.1,0
Options:-

.1, Option ID :- 393,

- 2, Option ID :- 394,

« 3, Option ID :- 395,

« 4, Option ID :- 396,

Answer Given:- 1, Option ID : -393
Question ID:- 100

Which one of the following violates the octet rule ?

(1) PCl,
(2) CBr,
(3) OF,
(4)  AsFs

fqeafefaa 0 9 @ 2 49y &1 Soeidq #id 2 7

(1) PCl,
(2)  CBr,
(3)  OF,
(4) AsT 5

Options:-

.1, Option ID :- 397,
. 2, Option ID :- 398,
. 3, Option ID :- 399,
- 4, Option ID :- 400,
Answer Given:- 4, Option ID : -400

Question ID:- 101

Ppetprime.com




All are state functions except :

(1) Pressure

(2)  Heat

(3)  Free energy
(4)  Enthalpy

foreh] BT Tull sTawe et (=22 HaH) 2 7

Options:-

.1, Option ID :- 401,

- 2, Option ID :- 402,

- 3, Option ID :- 403,

. 4, Option ID :- 404,

Answer Given:- 2, Option ID : -402
Question ID:- 102

Calculate the bond energy of the B-F bond in BF; (boron tritluoride) gas -

_"i.H? ot atomic B =134.5 kcal/ mol

L\.H? of atomic F=18.86 kcal/mol

&H? of BF, = —271.75 keal/mol
(1) 97.7 kcal/mol
(2)  1l6.6 keal/mol
(3) 1354 kcal/mol
) 1543 keal/mol

BF, (ARM ZE@REE) T8 H B-F &9 Sl &1 701 #1790 |
Y Bl a.H;‘ =134.5 keal/mol
TEAM] F AL AH = 1886 keal/ mol

BF, #1 AH = —271.75 keal/mol

(1) 977 keal/mol

(2) 116.6 kcal/mol
(3) 1354 kcal/mol
(4) 1243 kecal/mol
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Options:-

.1, Option ID :- 405,

. 2, Option ID :- 406,

« 3, Option ID :- 407,

- 4, Option ID :- 408,

Answer Given:- 1, Option ID : -405
Question ID:- 103

Given the following standard enlhatpies of formation : CO5(g), -394 kJ/mol; H5O(1)

=280 kJ/mol; C,H,(g), 10.0 KJ/mol, calculate the heat of combustion of one mole of C H, if th
equation describing the process 1s :
CyHa(g) + 605(g) — HCOL(g) + 4,000
(1) —2736 ki/mol
} — 696 KJ/mol
(3) 696 kJ/mol
) 2756 K]/mol

T2A i ffatEa aes e 8 g
COM(g), —394 KJ/mol
H,O(l), — 286 kJ/mol
C,Ha(g). 16.0 k]/mol
C,H, & T% A& % =24 & S & 0] L Ale Tl &1 Gu &e G JHE §
C Hi(g) + 605(g) — 4C05(g) + +H,0(1)
(1) —2736 KJ/mol
) =696 kJ/mol
(3) 696 kKJ/mol
)} 2730 K]/ mol

Ppetprime.com

Options:-

.1, Option ID :- 409,

« 2, Option ID :- 410,

- 3, Option ID :- 411,

. 4, Option ID :- 412,

Answer Given:- 1, Option ID : -409
Question ID:- 104

Determine the value of AG® (in k]) for the tollowing reaction using data from the table below :
IHO(g) + O5(g) — ZH,O04(g)

Substance AGY (kJ/mol)
H,O(g) — 228
H,O5(g) — 105

(1) =246
(2) 666

(3) 246
(4)

— bhHO




A €l T afersn 9 2er & 3wan 4 EiefEn gfdfEer & f@u ace (g 7y @1 9 fAgifia =+

2H,Ofg) + Oalg) — 2H,05(g)

PEAD] AGO (kJ/mol)

1,0(2) ~ 228

H,Os(g) ~ 105

(1) 246

(2) o666

(3) 246
)

S

(-

.

— hha

Options:-

.1, Option ID :- 413,

« 2, Option ID :- 414,

- 3, Option ID :- 415,

. 4, Option ID :- 416,

Answer Given:- 2, Option ID : -414

Question ID:- 105
How many k] of heat are liberated when 50.0 ¢ of Mn(s) 1s burnt to form Mn,O,(s) under standar
states !
3Mn(s) + 205(g) — Mn,Oy(s)

(Atomic mass (Mn) = 55; AH? (Mn;O,(s)) = — 1388 k] mol ~ h
(1) 421

(2) 946

(3) 1388

(4) 2638

TAE AFEAAT % T@d MnyO,(s) T & 1670 50.0 T Mn(s) 1 5o W e k] 509 59 8l @ 2
3Mn(s) + 204(g) — MnyO,(s)

{2

(T T (Mn) =55; AH{ (Mn, O (s)) = — 1388 k] mol ~)

(1) 421
(2) 946
(3) 1388
(4) 2838
Options:-

.1, Option ID :- 417,
- 2, Option ID :- 418,
« 3, Option ID :- 419,

- 4, Option ID :- 420,
Answer Given:- 1, Option ID : -417

petprime.com




Question ID:- 106

A saturated solution of MgF, contains 1.16 x 1077 mol of MgF, per litre. What is the K

MgF, ?

(1y 27x10°¢©
(2y 1.6x10~°
(3 31x107?
(4) 6.2x1077

MgF, F HT e | Mgk, % 116 10~ Aot 9fd ozt 2/ €1 MgF, 1 K, PN E?
(1) 27x10 °
(2) lex107"?
(3 31x107°
(4) 6.2x10?

Options:-

.1, Option ID :- 421,

. 2, Option ID :- 422,

- 3, Option ID :- 423,

. 4, Option ID :- 424,

Answer Given:- 2, Option ID : -422
Question ID:- 107

Which will be the same tor solutions of 0.50 M NH; and 0.50 M NaOH ?
(A) Concentration of OH™ ions.
(B)  Volume of 0.20 M HCI required for neutralization.

(1) (A) only

(2)  Both (A) and (B)
(3)  (B) only

(4)  Neither (A) nor (B)

0.50 M NH, 3R 050 M NaOH % faer1 F 60 %7 o1 59 20 7
(A) OH™#MEA 6l Higdl
(B) ZerEmR faEa & A eutead 0.20 M HCT &1 A

) AT (A)

) (A) #T(B) =
(3)  E (B)

) A (A) HARXATE(B)
Options:-

.1, Option ID :- 425,
« 2, Option ID :- 426,

sp ¢

of
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. 3, Option ID :- 427,

. 4, Option ID :- 428,

Answer Given:- 4, Option ID : -428
Question ID:- 108

For the reaction

ZNO(g) + Os(g) = 2NOs(g)

the equilibrium concentrations at a certain temperature are found to be [NO]=0.10 M
[O,] =020 M, [NO,|=0.30 M. The value of the equlibrium constant for the reaction at thi
temperature 18

() 1.3
(2) 15
(3) 45
(4) 150

2NO(g) + Oq(g) = ZNO5(g)
U AHH 9 Hgod Higdl 9% S g
[NOJ=0.10 M, [O4]=0.20 M, [NO,| =030 M

TH ATHA T IH A T Hqer R R A 2
() 1.5

(2) 153

(%) 453

(4) 150

Options:-

.1, Option ID :- 429,

« 2, Option ID :- 430,

« 3, Option ID :- 431,

. 4, Option ID :- 432,

Answer Given:- 3, Option ID : -431
Question ID:- 109

An aqueous solution of which salt would be expected to have the most basic pH ?

(1) Na,CO,
(2)  NaC,H50,
(3)  NaCl

(4) NH,C!
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—

[ A & ST AT ] FEH R @ () pH e w3 ] s 2
(1)  Na,CO,

(2)  NaC,H,0,

(3)  NaCl

(4) NH,CI
Options:-

.1, Option ID :- 433,
- 2, Option ID :- 434,
« 3, Option ID :- 435,
« 4, Option ID :- 436,
Answer Given:- 1, Option ID : -433

Question ID:- 110

[f 40.0 mL of 0.20 M CHL,COOH are titrated with 0.20 M NaOH, how many mL of base must b

added to form a buffer solution with the greatest buffering capacity 7

(1) 5.0
(2)  10.0
(3)  20.0
(4)  40.0

=fE 0.20 M CH,COOH & 40.0 mL & 0.20 M NaOH % Hi2 21522 370 o 8, a1 Afmwan awi =

T AL FAM o T, TRl M (FH) STe e

(1) 5.0
(2) 10.0
(3 20.0
(4) 400
Options:-

.1, Option ID :- 437,
- 2, Option ID :- 438,
. 3, Option ID :- 439,

« 4, Option ID :- 440,
Answer Given:- 4, Option ID : -440

Question ID:- 111

In which pair does the named substance have the same oxidation number 7
() Sulphur in H,5,0- and H,50,

1 . 7+ 2+
(2)  Mercury m Hg=" and Hg,

(3)  Cobaltin CC}(I\I]-IB);':Jr and CU(NO?')E
(4)  Oxygen in Na,O- and H-0.

e.CcoOomMm
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fom 1 o ifga were =) AT SE 7 2 7
(1) Hy5,0, 3/ H,50, T Howt

o IR L 24 =
(2) Hg-7 #AX Hg, ™ HH

(3)  Co(NH,)}" #1 Co(NO,), H Fm@mwz

(4)  Na,O, 317 H,O H #Aleplsi

Options:-

.1, Option ID :- 441,

« 2, Option ID :- 442,

. 3, Option ID :- 443,

« 4, Option ID :- 444,

Answer Given:- 1, Option ID : -441
Question ID:- 112

What is the oxidation number tor carbon in CaC,0, 7

(1) 0

() +2
(3)  +3
(4)  +4

CaC,0, H #ld o fern zyasiarin Hazg #1) € 7

(1y 0
(2) +2
(3)  +3
() + 4
Options:-

.1, Option ID :- 445,

. 2, Option ID :- 446,

« 3, Option ID :- 447,

- 4, Option ID :- 448,

Answer Given:- 3, Option ID : -447
Question ID:- 113

Which of the following is a correct statement ?

(1)  Oxidation is caused by a reducing agent.

(2)  The oxidation reaction is a redox reaction.

(3)  Additon of an electropositive element is a type of oxidation.
(4)

Reduction is the addition of hydrogen.

Ppetprime.com




- -

T TeAfEd § | A 5 U HE FU 2 7

(1) AT 39994 hid 9Tl Usiz & HRU 2l 2 |
(2) AT Ffdfsran o e wiafwE €

(4) FATFFA FELE F AN B

Options:-

.1, Option ID :- 449,
- 2, Option ID :- 450,
. 3, Option ID :- 451,

. 4, Option ID :- 452,
Answer Given:- 4, Option ID : -452

Question ID:- 114
What is the coefficient for Fe= " when the redox equation

Fe?t+ MnO, + HY & Fe'+ Mn " + H-,O is balanced using the smallest whole numbe

coefficients ?

(n =2
(2) 3
(3) 4
(4 >

Fe?'+ MnO;+ H' — Fe''+ Mn*| + H,0

HAH T YU HE I F] AR AR H (o B g

(1) 2
(2) 3
(3 4
(4 3
Options:-

.1, Option ID :- 453,
« 2, Option ID :- 454,
- 3, Option ID :- 455,
. 4, Option ID :- 456,
Answer Given:- 4, Option ID : -456

Question ID:- 115
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Which one ot the tollowing statements 1s NOT correct for the given reaction ?
Fe(s) + CuSO(aq) — FeSQ (aq) + Cu(s)

(1} Iron is the reducing agent.

(2)  The solution turns green in colour atter the reaction.

(3)  Copper is a more reactive metal than iron,
(4)

The reaction is an example of a redox reaction.

=1 2 yfafer & fou f=fafeaa 9 9 &9 9 e w8 78 27
Fe(s) + CudSO (aq) — FeSO (aq) + Culs)

(1) & A9=3F F

(2)  #ATFEm F T e e E S

(3) (W olig & gorn 0 sl wfdfmaiioa aig 2

(4)  wldalbman, teme ufafean o1 us 2gem 2

Options:-

.1, Option ID :- 457,

« 2, Option ID :- 458,

- 3, Option ID :- 459,

« 4, Option ID :- 460,

Answer Given:- 3, Option ID : -459

Question ID:- 116
An aquous solution is L.OO Molal in KL Which change will cause the vapour pressure of th
solution to increase 7

(1)  Additon of water.

(2)  Addition of NaCl.
(3)  Addition of Na,S0,.
(4)  Addition ot 1.0 Molal KT

KI W W STeli™ = 1.00 "ok 21 [ 9@ o R0 (5erdq &1 9 aF =g o/
) ST

) NaCl &1 3
(3)  Na,SO, =AW

) L0 EEE K1 A

Options:-

.1, Option ID :- 461,

« 2, Option ID :- 462,

- 3, Option ID :- 463,

. 4, Option ID :- 464,

Answer Given:- 1, Option ID : -461

Question ID:- 117
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What is the molality of the Li™ ion in a solution prepared by dissolving 2.20 g of Li,50,
(MM =110.0 g/mol) in enough H,O to make 50.0 mL of solution ?

(1) 2.00x<107*M
(2} 4.00x10-=M
(3) 0400 M
(4)  0.8200 M

L1550, (MM = 1100 ¢ /mol) % 2.20 U8 %l 9519 H,O H 50.0 mL =ie s & felu =5t @) | d@r fF
T AT T 13T ST R el R 2

(1) 2.00x10 2M
(2) 4.00x107"2 M
(3) 0400 M
(4] 0.800 M

-

Options:-

.1, Option ID :- 465,
« 2, Option ID :- 466,
« 3, Option ID :- 467,
. 4, Option ID :- 468,

Answer Given:- 4, Option ID ; -468

Question ID:- 118

Calculate the Molality of a solution that contains 51.2 g of naphthalene, C Hy. in 500 mL 0y
carbon tetrachloride. The density of CClis 1.60g/mL

(1) 0.250 M

(2)  0.500 M
(3) 0.750 M
(4)  0.840 M

U (A=A 1 HREE 1 0T L T 500 mL FEA 2ZEAAEE § 51.2 9 AR C,, Hy, WiEd 2
CCl, =1 77 1.60 g/mL 21

(1y 0250 M
(2) 0500 M
(3) 0750 M
(4)  0.840 M
Options:-

.1, Option ID :- 469,
« 2, Option ID :- 470,
. 3, Option ID :- 471,
. 4, Option ID :- 472,

Answer Given:- 2, Option ID ; -470

Question ID:- 119

iMnme.Ccomnm
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The vapour pressure of pure water at 85°C is 57.9 kPa. What is the vapour pressure at 85°C of a
solution prepared from 100 mL of water (density 1.00 g/mL) and 150 g of diglvcine, C H,N,O,, a

non-volatle substance ?

(1) 48.1 kPa

(2) 520 kPa
(3)  56.7 kPa
(4 7 kPa

85°C W% Y5 W7 &1 AT &4 57.9 kPa @1 21 100 mL Fa (97 1L00g/mL) T 150 g EETAH
C,HNO,, TR T AT T H AW TR T A & 859C W AT ] 2dd #5927

(1) 48.1 kPa
(2) 520 kPa
(3)  56.7 kPa
(4) 51.7 kPa

Options:-

.1, Option ID :- 473,
. 2, Option ID :- 474,
- 3, Option ID :- 475,
. 4, Option ID :- 476,
Answer Given:- 1, Option ID : -473

Question ID:- 120

pgtprl me.com

[f45 ¢ of glucose, C H!—,O ,are dissolved in 300 mL of water, what will be the boiling point of thy
waultmv solution ? (K for water=0.312°C/m).

(1) 101.64°C
(2)  100.78°C
(3)  100.43°C
(4)  99.626°C

fg 45 71 W C,H,,Q,, 1 300 mL Sel J =ienl =i, d W] foema &1 aaudis a1 g 7
(sl & felu K,=0512"C/m)

(1) 101.64°C
(2)  100.78°C
(3)  100.43°C
(4)  99.626°C

IJ

Options:-

.1, Option ID :- 477,

« 2, Option ID :- 478,

- 3, Option ID :- 479,

- 4, Option ID :- 480,

Answer Given:- 3, Option ID : -479

Question ID:- 121




The standard reduction potentials for AP and Zn=" are — L66 V and —0.76 V, respectively.
Calculate the Gibbs free energy change for the balanced reaction.

2Als) + 3ZnTag) — 2ADI T{aq) + 3Zn(s) (1F =96,500 C)

(1) —=52%107]

—6.0x107 ]

(2)
(3)  +9.0x107]
(4)

+1.4x107]

AP 91 Zn2~ o AU o9 S99 e mdl RE: — 166 V SR —0.76 V B 1 Hdfaa wfafwen & fag fire
T Fall giaa Rl 0]

2Al(s) + 32113":'(&1(]) — 2:‘\11“(&111) + 3Zn(s) (1F=96,500 C)

(1) —5.2x107]
(2)  —6.0%x107]
(3)  +9.0x10°]
(4)  +1.4x107]

Options:-

.1, Option ID :- 481,
- 2, Option ID :- 482,
« 3, Option ID :- 483,

. 4, Option ID :- 484,
Answer Given:- 1, Option ID : -481

Ppetprime.com

Question ID:- 122

Which of the following statements aboul electrochemical cells is true ?

(1) Reduction occurs at the anode.

(2)  An element with a high atfinity for electrons is likely to be easily oxidized.
(3)  Oxidation occurs at the anode.

(4)  Only oxidation half reactions are important.

-

ferfad O 9 19 91 heH 0T 2 7

sAAZIH A Al & =L H {3
(1) 9= U2 W 2 |
(2) sl & folu 3w A aii=e e soieeia & ST 9 S € &l HuE 2§
(3)  TATE T ST BT E

(4) S TR - ufdfE TR #

Options:-

-1, Option ID :- 485,

« 2, Option ID :- 486,

« 3, Option ID :- 487,

- 4, Option ID :- 488,

Answer Given:- 3, Option ID : -487

Question ID:- 123




What is £ tor the tollowing balanced reaction?

Zn(s) + Pb*7 (aq) — Zn""(aq) + Pb(s)

Half-reaction Standard Reduction Potential
Zn?'aq) + 27 — Zn(s) —0.763 V

Pb™ (aq) + 22~ — Pb(s) 0126V

1)y 40637V

) — 0637V

) 0889V
)

+(0.889 ¥V

—

ArAtefEa Hafem e & fu Lo #n @ ?

7n(s) + Pha7 (aq) — Zn="T(aq) + Ph(s)

a7ef gfafehan HIeh $TOEA 2T
707 (aq) + 267 — 7n(s) —0.763 V
Pb="(aq) + 2e™ — Pbis) —0.126 V

(1) +0637V

(2) -0637V

() —0.880 V
)

(4)  +0889V

Options:-
.1, Option ID :- 489,

Ppetprime.com

« 2, Option ID :- 490,
. 3, Option ID :- 491,

- 4, Option ID :- 492,
Answer Given:- 1, Option ID : -489

Question ID:- 124

[dentify the strongest reducing agent based on the following halt-reactions :

Halt reaction Standard reduction potential
MnOs(s) + 4H (aq) + 2¢~ — Mn? " (ag) + 2H,O() +1.22V
Hg,50,(s) + 2¢7 — 2Hg(l) + SO_E_I:dL'” +0.61V

SnOs(s) + ZHO) + de™ — Sn(s) +4OH ™ (ay) —0.95V
Cr(OH)5(s) + 327 — Ur(s) + 30HT (ag) —1.48V

(1y Cv

(2) I\aInG'2

(3)  Sn

(4) Hg




frefefEg @8 At = aan W waadqn J09EE F BEE S

37ef wiateram Oreh 37099 &T0dr
MnO,(s) + 4H (aq) + 2¢7 — M ™ (aq) + 2HALO(1) +1.22V
Hg,50,(s) + 2e7 — 2Hg(l) + ‘SDJZ_{&L” +0.61V
SnOy(s) + 2H,0() + 4e™ — Sn(s) +40H ™ (aq) — .95V
Cr(OH),(s) + 3e7 — Cr(s) + 30HT™ (aq) — 148V
(1) Cr
(2)  MnO,
(3)  Sn
(4)  Hg
Options:-

.1, Option ID :- 493,

« 2, Option ID :- 494,

« 3, Option ID :- 495,

« 4, Option ID :- 496,

Answer Given:- 2, Option ID : -494
Question ID:- 125

What mass of nickel (atomic mass 58.7u) could be electroplated from a solution of nickel (I1) chlorid
by a current of 0.25 amperes Howing for 10 hours ? (1F = 96,500 C)

() 12g
(2) 55¢g
(3)  0.046 g
(4 27 g

fehct (1) adiuse & faciad 4 fHad (WHm] ge90H 58.7 u) + (6 go99H 910 =2 de @ed die
0.25 THIFR T 9W 5 HEE w0 (R S T © 2
(1F = 96,500 C)

(ny 12 [
(2) 55¢
(3 0.046 g
(4) 27 ¢
Options:-

.1, Option ID :- 497,
- 2, Option ID :- 498,
- 3, Option ID :- 499,
. 4, Option ID :- 500,
Answer Given:- 4, Option ID : -500

Question ID:- 126
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The first order reaction
2NO() — 2N5(g) + O5(g)

has a rate constant of 1.3 < 10~ M g= T 227°C and 6.5 < 10~ W e =4t 327°C. What is the acHvation

energy for the reaction ? (R=8.3 JK™ 'mol = 1o
(1) 15 KJ/mol
(2) 30 KkJ/mol
(3) 68 kJ/mel
(4) 97 k]/mol

102 = 0.30)

H1u=

gy &if2 &l =gfafea
2NLO(g) — 2Na(g) + O5(g)
& form 227°C T 13x 10 Ms 1 3 327°C W 65x 10 101 &t = freom 2

TH WiAlwA & fan A S #1272 (R=83] K™ 'mol ™! log,,2 = 0.30)

(1y 15 kJ/mol
(2y 30 K]/mol
(3) o8 kJ/mol
(4y 97 KJ/mol

Options:-

.1, Option ID :- 501,

« 2, Option ID :- 502,

- 3, Option ID :- 503,

- 4, Option ID :- 504,

Answer Given:- 1, Option ID : -501

Question ID:- 127

The rate of the reaction ZNO + Cls — 2ZNOCI is given by the rate equation rate = k[NOF[ClEJ. The

value of the rate constant can be increased by :
(1) Increasing the concentration of NO.

(2} Increasing the concentration of Cl..

(3)  Increasing the temperature.

(4)  Doing all of these.

ufafEa 2NQ + Cl, — 2NOCI =l <% 36 &% JHiH g4 & 7 F )
T = k[NOJ[Cl,]

(1) NO =1 JiZdl =z

(2)  Cly %l Higdl Sl

(3) AT =

(4) g = A

Options:-
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.1, Option ID :- 505,
. 2, Option ID :- 506,
« 3, Option ID :- 507,

- 4, Option ID :- 508,
Answer Given:- 3, Option ID : -507

Question ID:- 128
. - — - - 21— —
The ionic reacton 317 + Sf;OH — 250, + 1,
is found to be described by the experimental rate equation.
. 7
Rate = K[ ][S:05 ]
This sugweests that :
[l

(1) The reaction occurs when three iodide ions collide simultaneously with one Squ, ion.

(2)  Theremust be only one step in the overall reaction since the rate is tirst order in both reactante
(3)  The rate of reaction is inhibited by the presence of 1, .

(4) A slow step in the overall reactiom sequence may involve the collision ot a single [~ ion witl

L
a single 530.‘5 1017,
§ U

AAF AR 317 + $,0. — 250, + 1,7 WA & AHEF gr it 9 =

= k[l ][S,05 ] | FHE Tdl el

petprime.com

i~

(1) Wl a9 24l & 59 di7 HEREs 997 UF a9 06 5203_ AP H TR 2 |

(2)  =HU 9idlFA1 H Fee Uk G gHI EiEU il SHi SAMERE] H et ueH il 7

~ -
=

(3) 1 i sufeafa o ufafsan &1 g =t gl 21

~ - - .~ - - . -
(4) THT WfAlF 8 H TF S FEd | TR [ 3P Rl T S,0y~ A H T oA 21 Hehe

it

Options:-

.1, Option ID :- 509,

« 2, Option ID :- 510,

« 3, Option ID :- 511,

. 4, Option ID :- 512,

Answer Given:- 4, Option ID : -512

Question ID:- 129




The rate equation of a reaction is given by
in ]
Rate =k[A]-

The units of k are :

(1) moldm™ s~ !
(2)  dm’mol !

() s~

(4)  mol~ldmis—!

Al &1 971 FHE g3 gER T o ¥ @ = kAR k & gaEEa 2
(1) moldm s !
(2)  dmimol !

(3) 7!

(4) mol” Lam?s !
Options:-

.1, Option ID :- 513,

. 2, Option ID :- 514,

- 3, Option ID :- 515,

- 4, Option ID :- 516,

Answer Given:- 4, Option ID : -516
Question ID:- 130

Which of the following equations is not correct ?
(1) k=A exp(k, /RT)
(2) AG=AH -TAS

(3)  AG[= -RTInK .

(4) T=pV/nR

freferfad 5 9 SH-91 9960 T8 T8 2 7
(1)  k=A expE, /RT)
(2)  AG=AH-TAS

(3)  AG/= -RTInK -

(4 T=pV/nR

Options:-

.1, Option ID :- 517,

« 2, Option ID :- 518,

. 3, Option ID :- 519,

- 4, Option ID :- 520,

Answer Given:- 1, Option ID ; -517

Question ID:- 131
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Which of the tollowing electron configurations is correct for Nickel ?

(1) [Xe] 4s! 3d®
() [Kr] 4s! 3d®
(3)  [Kr] 45 3d°
(4)  [Ar] 457 348

et % Hed H famfaiea o 9 =m- sz faam w2 87

(1) [Xe| 45! 34"
(2)  [Kr] 4st 3d¥
(3)  [Kr] 4s° 3d®
(4)  [Ar] 4s° 3d°

Options:-

.1, Option ID :- 521,

« 2, Option ID :- 522,

- 3, Option ID :- 523,

. 4, Option ID :- 524,

Answer Given:- 4, Option ID : -524
Question ID:- 132

The atomic radii of Zr (145 pm) and Hf (144 pm) are almost equal because of .

(1)  Their being isoelectronic.

(2)  Their being sotonic.

(3)  Lanthanoid contraction.

(4)  Higher atomic number of Zr as compared to HE.

Zr (145 pm) X Hf (144 pm) 21 QAT 570 @900 5031 € #00
(1) o wugeiwRs &
(2) o FEHEF §

(3)  TYAEE dFEH

(4)  Zr = WA wHF Hf H A 26 e

Options:-

.1, Option ID :- 525,

- 2, Option ID :- 526,

- 3, Option ID :- 527,

. 4, Option ID :- 528,

Answer Given:- 3, Option ID : -527

Question ID:- 133
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Choose the correct option tor Mn:O;, CrC’3 and WV 205 from the follow mg :

(1) 1\,-[1120? CrClﬁ and '\-"'203 are acidic.

(2)  CrO5i1s acidic while Mn,O- and V,0- are basic.
(3) V505 is adidic while CrO; and Mn,O- are basic.
(4)  Mn,O-, CGrO5 and V505 are all basic.

freferfEd 5 3 Mn,O-, CrO, @21 V,0-  [@0 |8l fawed 1 =7 &ie

(1) Mn,O-, CrOy 3R VL0 3T 13 7
(2)  CrO, s=f14 & Salfes M, O, 21 Vo0, &1 21

)
)
(3)  V,0. &M g s@iE CrO; 31T Mn,O, AR 21
) Mn,O5, CrO, @ VL0, T+ a7 £

Options:-

.1, Option ID :- 529,

- 2, Option ID :- 530,

« 3, Option ID :- 531,

« 4, Option ID :- 532,

Answer Given:- 4, Option ID ; -532

Question ID:- 134

The tormula of the deep red liquid formed on heating potassium dichromatie with KCI 1

concentrated sulphuric acid is -

(1)  CxCl,
(2) CrO.ClL
(3)  CrO,

(4) €S0,

i HeRIF s 729 ZEEmE # KCL & W2 TH F W A9 Jed T8 e 29 ] 54
(1) CrCl,

(2) CrO,Cl,

(3) Cro,

(4) Crs0,

Options:-

.1, Option ID :- 533,

- 2, Option ID :- 534,

« 3, Option ID :- 535,

« 4, Option ID :- 536,

Answer Given:- 2, Option ID : -534

Question ID:- 135

s
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The magnetic moment of Cr=7 is
(1) 2.85 BM

(2) 440 BM
(3)  5.92 BM
(4) 3.87 BM

Cr2* &1 s g 39 2

(1) 2.85 BM
(2)  4.40 BM
(3)  5.92 BM
(4)  3.87 BM

Options:-

.1, Option ID :- 537,

« 2, Option ID :- 538,

- 3, Option ID :- 539,

. 4, Option ID :- 540,

Answer Given:- 2, Option ID : -538

Question ID:- 136

Which of the following is a coordmnation compound ?

(1)  KCl MgCl,. 6H,0
(2)  Fe SO,(NH,), 5O,.6H,0
(3) KAl (50,),.12H,0

(4) K, [Al(CO,)4

frrfafad | 9 &9 91 T T998Hdrs a1 ¢ 7

(1) KCl MgCl,. 6H,0
(2)  Te SO,(NH,), SO,.611,0
(3) KAl (SO)-.12H,0

(4) K} [Al (Cgc',ﬂa]

Options:-

.1, Option ID :- 541,

« 2, Option ID :- 542,

« 3, Option ID :- 543,

- 4, Option ID :- 544,

Answer Given:- 4, Option ID : -544

Question ID:- 137
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The coordination number ot cobalt in the complex [Co(en),Br,]Cl; is : (en = NH,CH-CH-NH-)

(1) 4
(2) o
(3) 5
(4) 2

=

HFA [Colen),Bra|Cl, H &2 i ITHEHAEA HE2 § (on = NH,CH,CH,NH,)

(1) 4
2y 6
(3} 5
(4 2
Options:-

.1, Option ID :- 545,

« 2, Option ID :- 546,

. 3, Option ID :- 547,

« 4, Option ID :- 548,

Answer Given:- 2, Option ID : -546
Question ID:- 138

Which of the following is a hexadentate ligand ?

(1)  Ox(oxalate 1on, CZD_!E )

(2) CN~

(3)  en(ethvlenediamine), NH,CH,CH,NH,)
(4) EDTA

faeferfgd 5 9 #4 91 U sai2de Helad ¢ 7

(1) Ox(3ERTZ 3P, C,0,77)

(2) CN-

(3)  en(ufucdieraaEd, NH,CH,.CH,NH,)
(4) EDTA

Options:-

.1, Option ID :- 549,
- 2, Option ID :- 550,
. 3, Option ID :- 551,
. 4, Option ID :- 552,
Answer Given:- 4, Option ID : -552

Question ID:- 139
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The oxidation state of the central metal atom in the coordination compound [Pt (NH4),Cl] Cl is :

(Ly +2
(2} +1
(3) 0

4 -1

FTHFHATS AN [Pt (NH;),Cl] C1H =P A 90 i 30 51w §

1y +2
2y +1
(3)y 0
(4 ~1

Options:-

.1, Option ID :- 553,

« 2, Option ID :- 554,

. 3, Option ID :- 555,

« 4, Option ID :- 556,

Answer Given:- 1, Option ID ; -553
Question ID:- 140

Given the list of licands and their corresponding names, choose the pair that does not match.

Ligand Name
(1) OH" Hydroxo )
(2) CNT™ Cyanide
5 I S Chloro
(4 HO Aqua

Heqda sl =l AL 3k Hd AT ] SiEd gU 39 skl FH Sl e Hed!

Ppetprime.com

LEEE] qH
(1) OH-~ EEEE]]
(2)y CN~ HEATRE
(3) Cl- FARI
(4) HO ]
Options:-

.1, Option ID :- 557,
« 2, Option ID :- 558,
- 3, Option ID :- 559,
. 4, Option ID :- 560,
Answer Given:- 2, Option ID : -558

Question ID:- 141




The IUPAC name of
{',l".] -13 CIZ] 13

CHy = CH = CH = €= CH, 15
|

OH OH
(1) 1,2 3 4 - tetramethyl-1, 3-propandiol
(2) I, 1, 2 - trimethyl butan -1, 3-diol.
(3) 1, 2 - dimethyl pentan - 2, 4-diol.
(4) 2,3 - dunethyl pentan -2, 4-diol.

CH, CH,
Hy CH

CH,—CH—CH—C—CH, & [UPAC ¥ ¥ :

! I
OH OH

e

(1) 1,23, 4-Z20993A - 1, 3 - AH 230
(2) 1,1, 2- ciEfHugd «eq -1, 3 - 2
(3) 1,2- =EfHemEete - 2, 4 - S

(4) 2,0 - ZEfmerEe Y7 - 2, 4 - T

Options:-

.1, Option ID :- 561,

« 2, Option ID :- 562,

« 3, Option ID :- 563,

- 4, Option ID :- 564,

Answer Given:- 4, Option ID : -564

Question ID:- 142
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Consider the fﬁlh)wing sequence of reactions :

HBF,

.

e Br/ILO 2T
12/ Hy , A HC s B
0-5°C

The product 'D" 15 :

;
E F
(1)
E
F
(2)
Br
NH,
F F
(3)
F
F
Br Br
(4)
Br

'
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AR & FefaiEy 9 ¥ o= wife
NH,

B0 et HBE

T

>/ Hy , A HCl . B i
0-5°C

AN IR D

F
F F
(1)
F
F
(2)
Br
NH,
F F
(3)
It
F
Br Br
(4)
Br
Options:-

.1, Option ID :- 565,
« 2, Option ID :- 566,
- 3, Option ID :- 567,
. 4, Option ID :- 568,
Answer Given:- 4, Option ID : -568

Question ID:- 143
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Which of these species 18 aromatic ?

Options:-

.1, Option ID :- 569,

« 2, Option ID :- 570,

« 3, Option ID :- 571,

« 4, Option ID :- 572,

Answer Given:- 1, Option ID : -569
Question ID:- 144

In the given molecule :

CH,=C=CH,

I I I
(1) All three carbons are sp hybridized.
(2)  C-Tand C-II are sp= hybridized and C-11 is sp hybridized.
(3)  Both C-I and C-II are sp hybridized and C-IT sp” hybridized.
(4)  All three carbons are sp~ hybridized.

Ppetprime.com




TET T ] H
CH,=C=CH,4
[ 11

(1) @l FEF sp HHd 2 |

(2)  C-1 31T C-Lll sp> F%Ta € ¥/ C-1l sp THi@ 21

(3)  C-I =1 C-III =1 sp WA & «1 C-11sp? Hasfa 7
(4) AT HEA sp? HEAE F
Options:-

.1, Option ID :- 573,
« 2, Option ID :- 574,
. 3, Option ID :- 575,
. 4, Option ID :- 576,
Answer Given:- 2, Option ID : -574

Question ID:- 145

[
o 1= v ) o o
In pyridine , the maximum electron density is found at position :
I X2y V

) I only

) I and IV only

) land V only

) L IL IV and V only

I11
I | 2 vV . o o s
fidiem | o Zoiaid &l HiHEdH Jd el 9 Il S g 7
[ V
N
(1) &ae I

)
) FEE IR IV
(3)  hddl [V
) FAE LI IV ER Y

Options:-

.1, Option ID :- 577,

« 2, Option ID :- 578,

« 3, Option ID :- 579,

. 4, Option ID :- 580,

Answer Given:- 2, Option ID : -578

Question ID:- 146
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The C-C1 bond distance 1s shortest

NN “l
(1)
S~
/\TM Cl
(2)
~
]
()
Cl
-
(4) oS

/}\\/“-\\\\/ “l
(1)

S

/‘\\|/‘\\/\\ cl
(2)

S~

PN PN
(3)

\\‘/

Cl
-
(4) -
Options:-

.1, Option ID :- 581,
. 2, Option ID :- 582,
« 3, Option ID :- 583,
- 4, Option ID :- 584,
Answer Given:- 1, Option ID : -581

Question ID:- 147
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Which of these species will produce a precipitate of AgBr most readily when treated with AgNO,
solution ?

—
[
C—t

=
]
]
=

—
[ R
—

Br

—
[
—

Br

OCH,

=

feifera | 4 ford wanfd &l faea 4 -'E’fi o sfufs=n o4 W AgBr &l ALY deshled 3099 8N 7

pPpPetprime.com

Br

///'/’\\|\/ Br
(2)

W

//4\\‘\"/\\ Br
) W

Br
" OCH;
Options:-

.1, Option ID :- 585,
. 2, Option ID :- 586,
. 3, Option ID :- 587,
. 4, Option ID :- 588,
Answer Given:- 4, Option ID : -588

Question ID:- 148




Which of the tollowing are structural isomers?
Q oH =
‘l\/(:[ L, Q/ CH,CH=CH-CH, - CH,
) O
I 11 il v
(1) I and IV only.
(2) L I and IV enly.
(3) I and IV only.
(4) I and II only.

ﬁiI I-(‘E‘ia” ﬁ i:i F:I:"i H.I"']‘”JCI ﬂl \Il E ]f‘:i %?

— O OH =
4‘VCH3 Q/ CH,CH=CH-CH, - CH,
'S
I 1 111

v

(1) #Aa Il R 1V
(2)  FFd I, 0l #HE Y
(3) A M ATV

(4)  hdel 1 L1

Ppetprime.com

Options:-

.1, Option ID :- 589,

- 2, Option ID :- 590,

« 3, Option ID :- 591,

. 4, Option ID :- 592,

Answer Given:- 4, Option ID : -592

Question ID:- 149




Which of these reactions will give cis-diols as the product?

H CH
Ne=c ’
(1) AN
H,C b
H P CH,
(2) C=¢ .
H CH
Ne— e ” 3
(3) / ~
H,C H
H CH,
C=C
(4) Ve ~
H,C H

freifra 4 3 f&a sifufan & o=y 3e9e & =9 H cis-diols (AH9%2F1H) 3099 81d § 7

H CH
Neme”
(1) PN
H,C H
M CH
Neme
(2) VN
H,C H
H
CH-
Ne—e”
(3) VRN
]' {3C I'[
H CH
Ne—e 3
(4) / ~
H,C H
Options:-

.1, Option ID :- 593,
. 2, Option ID :- 594,
. 3, Option ID :- 595,
. 4, Option ID :- 596,
Answer Given:- 2, Option ID : -594

Question ID:- 150

Cold alk. KMnO,

H,0,20MH

(i) BHs

(i) H,0, /©0H

(i) KOH (aq)

Cold alk. KMnOy

H,0,20H

(i) BlHs
(i) H,0, /O 0H

(i) Brs

(i) KOH (aqg)
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The spots of separated components in paper chromatography can be made visible by :
(1)  Putting the chromatogram under UV light.

(2)  Spraving a visualizing agent.

(3) Placing the chromatogram m a jar contaming a few crystals of iodine.

(4)

By complexing with heavy metal 1ons.

T avferEl faa | ggeRd =l F ued feifea O 9 R o o 9 grIEe 8 WEd | 2

(1) AT W H Fierd ] TE T

(2) 7T AT T i W
(3)  dviciE i SEIEH & e el gad ol H vgq W

(4) W TR AFF] S a1

Options:-

.1, Option ID :- 597,

- 2, Option ID :- 598,

- 3, Option ID :- 599,

. 4, Option ID :- 600,

Answer Given:- 3, Option ID : -599

Question ID:- 151

The quantitative estimation of nitrogen by Kjeldahl's method will provide accurate results for :

NH—NH
Jegine

0
N=N
H,N
NS
) =N
NH_
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Seard fafa | AE2eE F1 IIETeE (HEE ) WA R & Sy i O e mEE

ufamrer 9 gnm 2

NH—NH- :
_N\O

Z2—=>0

) O/

HzN
~
(%)
N
NH -
(4)
Options:-

.1, Option ID :- 601,
« 2, Option ID :- 602,
« 3, Option ID :- 603,
- 4, Option ID :- 604,
Answer Given:- 1, Option ID : -601

Question ID:- 152
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The most stable conformatonal isomer of 2-chloroethanol is :

n—a
[
—

%

OH

H Cl

S

OH
Cl

H |
M H

OH

5,

H

H H

Cl

OH
H

H

(-
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2 FARRYATA ] HASE 2 SR E J9EIE §
OH

H Cl

X

H
OH
Cl
H
%] H
OH
H H
(%)
H H
Cl
O
H
(4)
H
H ci'H
Options:-

.1, Option ID :- 605,

« 2, Option ID :- 606,

. 3, Option ID :- 607,

. 4, Option ID :- 608,

Answer Given:- 3, Option ID ; -607
Question ID:- 153

Which of these statements is NOT true about the SP\-E reaction 7

Order of react vity of alkyl halides 15 17 > 27 > 3%,

)
2} Reaction rate is dependent on the concentration of the nucleophile.
3)  Protic solvents tacilitate the S 2 reaction.

Order of reactivity with different halides 1s RI > RBr > RCL
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S, 2 ST & =L o R | | - w92 T 2

(1) Ueehzet gofize =1 safufeamiician #1 %0 17> 20> 3° € & |

(2) AT ) T SRR (R T Wigd 9 A g
(3) Wi fgemes S, 2 sffEa o werrs 2

(4) Tafimr zemee % w@ra sfafsEamiedr #1 %W RI > RBr > RCl &1

Options:-

.1, Option ID :- 609,

- 2, Option ID :- 610,

. 3, Option ID :- 611,

. 4, Option ID :- 612,

Answer Given:- 3, OptionID : -611
Question ID:- 154

Consider the fﬁHnwing sequence of reactions :

s SbF
+HBr—_ 3y A3, B

=
o

ﬁ
—
p—

j :—l:n

T B

Br

s
s
1 - ;\ ;
ﬁ
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At & fAeifwa A9Fn W/ fF=En #w i)

» A

SbF3

L.
'

~
+ HBr

Br

F

Br
F

E
F

F

Options:-

.1, Option ID :- 613,
« 2, Option ID :- 614,
« 3, Option ID :- 615,
. 4, Option ID :- 616,
Answer Given:- 3, Option ID : -615

Question ID:- 155
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[n the sequence of reactions given below :

NH,

NBNDZ H3P02

+HCl H,O
0-5C

Blis:

—
—
C—t

OH

OH
OH
(3) (;
OH
N = N - CﬁHE

=
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NI‘[?'

Options:-
.1, Option ID :- 617,
. 2, Option ID :- 618,

. 3, Option ID :- 619,

« 4, Option ID :- 620,
Answer Given:- 1, OptionID : -617

Question ID:- 156

NaNQ,  HiPO,

A >
+ HCl H0
0—-5"C

The preparation ot phenol from chlorobenzene is a/an :

(1)

Llectrophilic addition reaction.
Electrophilic substitution reaction.
Nucleophilic addition reaction.

Nucleophilic substitution reaction.

Bﬁ'B‘%:

AR & e o e 3 g P B 8 i S s 2§

ﬁ'q H’r-r‘ q_?':l_i:*&ﬁ
AT ATt 37T

AR AT AT e
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Options:-

.1, Option ID :- 621,

. 2, Option ID :- 622,

« 3, Option ID :- 623,

- 4, Option ID :- 624,

Answer Given:- 4, Option ID : -624
Question ID:- 157

Freons are manutactured usmyg -

(1) Sandmeyer's reaction.
(2)  Swartz reaction.

(3)  Finkelstemn reaction.
(4)  Gatterman reaction.

R o

A & Tafaator famifea o 9 fas wesEey g2 g7
(1) e w@iifEn
(2) =P sl
)
)

Pil;ﬁri_ J&Q 5'1 Cﬂﬁ-lﬁﬁ; :”
T 3TTTRAT

Options:-

.1, Option ID :- 625,

. 2, Option ID :- 626,

« 3, Option ID :- 627,

« 4, Option ID :- 628,

Answer Given:- 2, Option ID : -626
Question ID:- 158

The enol form of acetylacetone has :

(1) Yo bonds, 47 bonds, 2 lone pairs

(2) 120 bonds, 2m bonds, 4 lone pairs
(3)  14o bonds, 27 bonds, 4 lone pairs
(4)  1do bonds, 47 bonds, 2 lone pairs

P LY =

TfH21Z THZA & 247e 980 idia= 219 2

(1) Yo 3TEH, 4 TG, 2 Tshed TH
(2) 120 HEH, 27 AW, 4 Ushel 474
(3) 14 37194, 27 464, 4 Ushel 4iY
(4)  ldo FEY, 47 FEY, 2 TR I
Options:-

.1, Option ID :- 629,
« 2, Option ID :- 630,
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. 3, Option ID :- 631,

. 4, Option ID :- 632,
Answer Given:- 2, Option ID : -630

Question ID:- 159

Which of these alkyl halides will undergo Sy 1 reactions most readily ?

(1) C,Hs— CH,— I

O
|

(2)  CgH;—CH,—O—C—CH,
O

Il

O
O

I
(4)  CyH;—CH,—0O—-C— @

freifene § A o uowiEs eonge H agd saEl 3 S 1 wififm a2

(1) < H;-CH,-1
Q

I
(2)  C,H;—CH,—O—C—CHs

O
Il
() CeHs—CH =0~ CI;I —
O
O
Il

Options:-

.1, Option ID :- 633,

. 2, Option ID :- 634,

« 3, Option ID :- 635,

. 4, Option ID :- 636,

Answer Given:- 1, Option ID : -633

Question ID:- 160
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[n the tollowing reaction :

MC OH JPJ(S)

Me Br
T eould be

(1) Q only

Me  OMe

OMe
(2) only
Me
OMe

(3) and both

Me  OMe Me

OMe
only

L

Me OMe
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Freifaa wAfufen o Me OH, ‘P'(s)
Me Br
P B HFAE
Me OMe
OMe
(2) FA=
Me
OMe
(3) Eany a1
Me  OMe Me
OMe
(4) FFE
Me OMe
Options:-

.1, Option ID :- 637,

- 2, Option ID :- 638,

. 3, Option ID :- 639,

. 4, Option ID :- 640,

Answer Given:- 3, Option ID : -639
Question ID:- 161

Which of these compounds 15 least acidic ?

(1) Carbolic acid
(2)  Oxalic acid
(3)  Phthalic acid
(4)  Pieric acid

freifnd 0 | %4 = A1 999 F5 71019 26 8 7
(3) dferF =
)

Options:-
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.1, Option ID :- 641,
. 2, Option ID :- 642,
« 3, Option ID :- 643,
- 4, Option ID :- 644,
Answer Given:- 1, Option ID : -641

Question ID:- 162

Which of these has the shortest C — Cl bond length ?

'C|1H3
C—Cl
|
(1) @/ CH,
Cl
CH,CI

CH, ~ CH,Cl

=

NO,
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faeitra 1 H fomd © - Cl 9=y F1 92 dAoqdd9 2l & 7

CH;
C—Cl
I
(1) @/ CH,
Cl
CH,CI
CH, - CH,(]
(4) ;
NO,
Options:-

.1, Option ID :- 645,
- 2, Option ID :- 646,
. 3, Option ID :- 647,
. 4, Option ID :- 648,
Answer Given:- 2, Option ID : -646

Question ID:- 163
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The dehvdration product 'X' of the given compound
H

; ’

H
X
OH —H,0

CH,

S

15

CH,

Jb

CH,

Z =
0 N
= UJE T m:
Seye
m..J-

CHy

CH,
CH,

i

.

= Teu w0 =i =7 SR Seae X e Y

Y

[

CH3 H
H OH —HEO X
CH3

CH,

=
L

CH,

CH,
H

e
-2
e

CH,
CH,
H

CH,

CH,
CH,

s

Options:-

.1, Option ID :- 649,
« 2, Option ID :- 650,
« 3, Option ID :- 651,
- 4, Option ID :- 652,
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Answer Given:- 1, Option ID : -649
Question ID:- 164

The product ot the acid catalysed hydration of 2-phenyl propene is :
1) 3-phenvl propan-2-ol

2-phenvl propan-2-ol

(

(2)

(3)  l-phenvl propan-2-ol
(4)

2-phenyl propan-1-ol

2. TFaEd WA = =% IeTd o= &1 30918 €
(1) 3- ToFTEet 9o -2- =17
(2)  2- ThATSE WA -2- i
(3) 1 ToFmzer 9rga 2o =3
(4)  2- TRAT3E UIA -1- 37

Options:-

.1, Option ID :- 653,

« 2, Option ID :- 654,

« 3, Option ID :- 655,

« 4, Option ID :- 656,

Answer Given:- 1, Option ID : -653

Question ID:- 165

Ppetprime.com

Which of the following compounds will not undergo nucleophilic attack by a hvdroxyl group ?

(1) Ethyl benzoate
(2)  Diethyl ether
(3)  Acetonitrile

(4)  Benzamide

~ = r

Feifena § | foha 2R T B gliaee HOg &1 AIH SR 921 20T 7

(1) ZUEe s=uZ
(2) =iE-3uEd fu

Options:-

.1, Option ID :- 657,

. 2, Option ID :- 658,

« 3, Option ID :- 659,

- 4, Option ID :- 660,

Answer Given:- 2, Option ID : -658

Question ID:- 166




Which of the fnﬂﬂwhﬁg is the strongest base ?

Oe

Ppetprime.com




Feifpa § 9 &1 999 9o 97 2 7

Options:-

.1, Option ID :- 661,

« 2, Option ID :- 662,

« 3, Option ID :- 663,

. 4, Option ID :- 664,

Answer Given:- 2, Option ID : -662
Question ID:- 167

Which of the these reactions is used to step up the number of carbons i the chain ?
(1) Hofmann-Bromamide reaction.

) Hydroboration-oxidation.

) Stephen reaction.
)

Gatterman- Koch reaction.

Ppetprime.com




SgAT H e & G FgH i § 9 w5 1osfafee v 2 g2

(1) @FHMA - siHHEe AiifE

(2) BEESEIIE - 3TEEA

(3) W= sITafE
(4)  TETEE HwE A

Options:-

.1, Option ID :- 665,

- 2, Option ID :- 666,

. 3, Option ID :- 667,

- 4, Option ID :- 668,

Answer Given:- 3, Option ID : -667

Question ID:- 168

Consider the fnﬂnwing reachon ;

O
I H, -

CH,—C-Q ——=> T

: Pd-BaSO,

s

(1) CH,CH,

(2) CH,CH,OH

(3)  CH,CHO

(4)  CHLCHSCI

o

MR STl 9 [9=9R i

O |

I H, _—
CH,—C—-Cl ——> F

3 Pd-BaSO,

(1) CH,CH,
(2)  CH,CH,OH
(3) CH,CHO
(4)  CHyCH.CI

Options:-

.1, Option ID :- 669,

« 2, Option ID :- 670,

. 3, Option ID :- 671,

. 4, Option ID :- 672,

Answer Given:- 3, Option ID : -671

Question ID:- 169
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The reaction of benzaldehyde with semicarbazide hydrochloride is an example ot :

(1) Nucleophilic substtution reaction.

(2} Nucleophilic addition reaction.

(3)  Elimination reaction.

(4)  Electrophilic addiion followed by elimination.

AR E BREIANIEE & WY deicgas # Afaimen Feifea § | e seem §
(1) TVRTET gidwemas it

(2) TR ArE st

(3)  famvre (fadma) situlea

(4)  TEMEN A (HEEA) * aw e

Options:-

.1, Option ID :- 673,

- 2, Option ID :- 674,

- 3, Option ID :- 675,

. 4, Option ID :- 676,

Answer Given:- 2, Option ID : -674
Question ID:- 170

[n the given sequence of reactions :

0
CH.Br Mngther} A CH; —C— OCHZCHa} .
B s
OH
(1) CHy— C: — CH,CH;4
CH,CH,
OH
(2) CHSCHE—(::—C}]ECE-13
CH,CH,
OH
(3) CH;— % —CH,4
CH,CH,
OH

|
(1) CHy=C~OCH,CH,

CH,CH,
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H

(1

O
Il

friford sl & w0 1. S99k C,HaBr Mg /392 N CHy—C— DCHZCH_%}
B2
OH
) CHy— C:: — CH,CH4
CH,CH,
OH

(2) CE-13CI']2—C—CI-12CHB

|
CH,CH,

CI)H

(3) CHB —C— CH3

|
CH,CH,

OH
I

(4 Clly—C—OCIH,CII,

I
CH,CH,

Options:-

.,
.2,
.3,
. 4,

Option ID :- 677,
Option ID :- 678,
Option ID :- 679,
Option ID :- 680,

Answer Given:- 4, Option ID ; -680

Question ID:- 171

Assertion (A) :© Aromatic aldehydes do not respond to Fehling's reagent test.

Reason (R) : Aromatic aldehydes are not easily oadized.

(1) (A) and (R) both are correct and (R) 15 the correct explaination of (A).
(2)  (A) and (R) both are correct but (R) is not the correct explamation of (A).
(3)  (A) is correct but (R) is wrong,.

(4)  (A) is wrong but (R} is correct.

AfeRe (A) :  TWHEF Ufeeere wieT safusmtds giem . wiakmE T8 w1 §

FHIUT (R) : Wi UfegREe H A ITEIE TE @ 5
(1) (A) HR (R) 211 |8l & =R (R) (A) i HEl =R 3 |

(2)  (A) 377 (R) 3F1 =T ¥ 20 (R) (A) T T2 =0 T 2

(3)  (A) %El & T (R) o )

(4)  (A) TAd E TR (R) HE1

Opt

ions:-

B
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.1, Option ID :- 681,
. 2, Option ID :- 682,
« 3, Option ID :- 683,

- 4, Option ID :- 684,
Answer Given:- 1, Option ID : -681

Question ID:- 172

The number of ether isomers possible for a compound with molecular formula CH O would be -
1) 2

"3

il

(1 2
() 3
(3) 4
(4y 5

Options:-

.1, Option ID :- 685,
« 2, Option ID :- 686,
- 3, Option ID :- 687,

. 4, Option ID :- 688,
Answer Given:- 1, Option ID : -685

Ppetprime.com

Question ID:- 173

An organic compound has the molecular formula C;H,,N. The number of isomers which will giv.
a positive carbylamine test would be

(2
() 3
() 4
(4) 3

~

[T Tal 7k 21T =61 eATTvae, 99 C,H, N 2, 91 FEige UHE W0 el JueTe (AgEHH )
TR a2 7

(1 2
(2) 3
(3 4
(4 5

Options:-

.1, Option ID :- 689,
« 2, Option ID :- 690,




. 3, Option ID :- 691,

. 4, Option ID :- 692,
Answer Given:- 2, Option ID : -690

Question ID:- 174

Comsider the following reaction :

S0,Cl

A+ — N - alkyl benzene sulphonamide

'A"could be

(1) Anline

(2)  N.N-diethyl amine

(3)  N-Methyl methanamine
(4) Methanamine

A+ — % N - Ucs3d adld GohiAHES

(1) G

(2)  N.N - =E-391Ed UHEA
() N - MmeuEa M
(4)  THeAmEA

Options:-

.1, Option ID :- 693,
« 2, Option ID :- 694,
« 3, Option ID :- 695,
- 4, Option ID :- 696,
Answer Given:- 4, Option ID : -696

Question ID:- 175
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Which of these amines can he prepared by Gabriel phthalimide synthesis -

CH,NH,
Q7
NH,
. Q
NHCH,
@
CH,
k—CH3
@

Gfgud domze Heeivy gl Feifed © 9 S 91 uHEe 4R R S wenar 2 7

CH,NH,
(1)
NH,
o
NHCH,
&
CH,
N— CH,
@
Options:-

.1, Option ID :- 697,
. 2, Option ID :- 698,
. 3, Option ID :- 699,
. 4, Option ID :- 700,
Answer Given:- 1, Option ID : -697

Question ID:- 176

2
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Maltose has linkage between :

(1) €, of a-Glucose and C of B-Glucose.
(2)  C, of p-Glucose and C of f-Glucose.
(3) €, of u-Glucose and C of o-Glucose.
(4) €, of a-Glucose and C, of B-Glucose.

e .

A9 (HTe2d) O feitFRa o fFas 09 Jgaga 2l g7
(1) TS ] C, 30 [-To7h= A
(2)  B-TgHS F ) R p-TeH H C,
(3)  -TeTRIS W Cp ST o-TefIS #
(4) -7l 1 C| HN B-TeRT H C,

Options:-

.1, Option ID :- 701,

- 2, Option ID :- 702,

- 3, Option ID :- 703,

. 4, Option ID :- 704,

Answer Given:- 1, Option ID ; -701
Question ID:- 177

Which of these is a constituent of the cell wall of plant cells ?

(1) Nucleotides
(2]  Proteins

(3)  Cellulose
(4) Starch

Taefera | 9 #9192 FivEsl &1 w1 faet &1 FEE 93 27

(1) =AfFIsTEEE
(2)  9EH

(3) HEE
(4 ==
Options:-

.1, Option ID :- 705,
- 2, Option ID :- 706,
- 3, Option ID :- 707,
- 4, Option ID :- 708,
Answer Given:- 3, Option ID ; -707

Question ID:- 178
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Which of these amino acids does not have any chiral centres ?

(1) Lysme
(2} Cysteine
(3)  Glycine
(4)

Tyrosine

— -

fe=iferd | 9 T vdiAl 279 9 st g 98 2id 2 7

Ll) [GIE V\ i
(2) oA
(3) TenzfoE
(4)  =TETEA
Options:-

.1, Option ID :- 709,

- 2, Option ID :- 710,

- 3, Option ID :- 711,

. 4, Option ID :- 712,

Answer Given:- 3, Option ID : -711
Question ID:- 179

Whaich 1s NOT an essental amino acid ?

(1) Aspartic acid
(2)  Lvsine

(3)  Argiine

(4)  Methionine

freifera o 9 =1 sAfad uaEAy o T35 2

(1) w310
(2) TErEA

(%) s

4 fafer
Options:-

.1, Option ID :- 713,
- 2, Option ID :- 714,
- 3, Option ID :- 715,
. 4, Option ID :- 716,
Answer Given:- 2, OptionID : -714

Question ID:- 180
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RNA does not contamn :
(1) Adenine

(2)  Guanine
(3)  Uracil
(4)  Thymine

szdllaeizer st (i uA, U ) H Feifea § 9 e siafde =@ dar @7

(1) ufzd
(2) AT
(%) A=
(4)  AEHMA
Options:-

.1, Option ID :- 717,
« 2, Option ID :- 718,
- 3, Option ID :- 719,

. 4, Option ID :- 720,
Answer Given:- 4, Option ID : -720
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